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(#2882 ] EAMOBWEEICOWT

SRPR O RGO DWIBREE 3 JIS B 0 /NRBR AR T 0 ERE I A TIER I S0
T EBMBRAT WS, THICEBR S X BIGNEPL, HERDOERE A WL
BMAE 2 b A, FREEAMC IR i R H B,

KEENAN (1974) VhR 72— 2o T AR 0 BRER T ik TR D 7o AR o BYMTTH R (B9
1~1000 [INZD 2o\ COBYWIRE O KR T — & A8A LT, BUWIHGEE 3T IR o %
HH LT 5 2 2 BRI Uiz, FORRORLE TN 5,

AARCHE LR E IRIHR IO COMBHRENFA ERD DR TR LY, EhRKBof
B C, BWIEE AR T T4 2 vy a VORBRGRIIEL CRRT S Z EBEET
5% 0T, PERE T O KEENAN OREBH I L TR ORI & OBWi D 2 HEE T %
ENEREHE 2, TORRMIBEHE Y v /5 il dmiic, B ETHRLH
AREF DT ORHELE B D THROPIR AR e B3, FHHREOFEEE s
N, BEMELCIEREE LS,

KEENAN (1 ASTM-STANDARD 1= & % BYBiiiEE As=4 [IN?] oBIERERACRDIA
A — A O BWTEREE A SEHE I U CBIMTER s D A A — A OB OB RD HR L L
THARFREL T 5,

r=1382-486log (As/4) [psi] n
{81 7 BulERE [PSI], A, GBUMER [(IN?], log EAMETH B,
JIS ##ER D v v 7 3 & BUMIREE & oBIRE W TOROBIR Y HARERM ~HHA4 %

7odb, POKOMA A kef, cm? WML, X 5 JIS BIAEREAE: O BIMTE R As=9[cm?]
O BIWTHREE Ao St B Eic b ek
ri=112.7-34.2log (As/9) [kgf/cm?] (2)
AARBEARM O JIS BUMERE Sj &y v 7% Eb & 0Btk GREERBREMH (1973)) ks
TREhb, b
Sj=0.00107-Eb [kgf/cm?] (3)
@AW 1E (112.7) WK 9 cm® T 5 A 74 — A DBWIHRE I/ » T
ADT, ZOHEIEROBIFRE AN L EY v 7 REe N U CHRESTEARM LIRS Z
ENTED, COBCHEPRE 34.2) & (Si/112.7) oG TELT LD LTHE, (2)(3)
B KEENAN O AL L CRD 7 BARBEARM OBMIHRE (i) & JIMHE (A DBIfR
B TERI R B,
7j=5i—34.2(Si/112.7) log (As/9) [kgf/cm?] (4)
% ok '
7i=0.00107 Eb(1—0.3034 - log (As/9)) [kgf/cm?] (5)
2B OBMRRITERINICRHE N ST Wi WO TR S 508, BEMETHD,
KEE S e 79 ACEBUEREE 7Y v b7y b5 E E S, CRT LSRG 496Kz
ST R B L e & 9 3 7 OBIWIRE O PHIIE & L COROME TR L 7z, R— 4R,
fl—F 3 FHEREIA OERH &k E A D UM A A & < 7o B &, TUWHRE OFF
M IR BRI N & < e b,
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(B3] U2 b7 PRROKE (HEE) 12oWT
(1) NAME OF SPECIMEN : (3%4%)
(2) PLIES OF LAMINAE N = GERMHE S ¢ 7 0%
3) &3 IHFEZonTHF—2
LAMINA : NO. (RoHEMM BE 2725 1 7%2), KIND (7 : roHE)
DECR. T.S. GIRIREDERK), Eb (Hifv v 7%), Fc (EffimE, Ft (2EmE)
HL (BE%), TOTAL THICKNESS (HEIGHT OF BEAM) : &8 Ha4 (4ERH & LT
DREX)
@) REH E L CORMERROTR GERM 2 H—H & B Uit « e, 771, B
HE U T o A V) B LA,
@ RUPTURE IN BENNDING (ffi i)
APPARENT M.O.Y.: ER=CHYihFv v 75 | EAMENR L)
M.O.R. : FBR= CHE5H o ih B8 EGED
COMP. SIDE STRAIN : JRC= (FEfEfs+gas)
TENS. SIDE STRAIN : JRT = (8|38
@ PROPORTIONAL LIMIT IN BENDING ({5 Ho B gEis)
M.O.Y.: Eb=(#hiFv v r&)
M.P.L.: MODULUS OF PROPORTIONAL LIMIT = (i iJ* Ht 47118 B 5250
M.P.L.t% APP. BEND. STRESS : FBP= G4 i LR EE SIS &R U,
@ MID PLASTIC BENDING : (hR#bERE, 8k fedsi 3 0 fe b D BE )
(5) CALCULATED RESULTS ON LOAD & NORMAL STRESS (35 75 grfk5)
M.O.Y. (b o fivFv v 7 %), M.O.R. (R o B EGE)
PP. LIM. SRTESS=M.P.L. CHiV¥ L AIBR B 0 A 244805 77 = il 1 AU 2 (R0
SPAN L=(#02-¢v), HEIGHT H=CERM DR S), BREADTH B= (Zig)
MAX. LOAD Wr= (kb i), MAX. DEFLX. DCR = (ki 1- 352.)
PP. LIMIT. LOAD Wp= (LtHIR7), PP.LIM. DEFLX. DCP= ((AlR 72 3o%)
MID PLAST. LOAD Wq= (h[EJ##: 5145, MIDPLAST. DEFLX. DCQ= ([ #-3>)
(6) SHEARING STRESS AT EACH GLU. LAM. LAYER WHEN RUPTURED BY
BENDING, AND KEENAN'S SHEARING STRENGTH OF EACH LAMINA (dhk
WA % 32 B SRR R D O S 5 e A U B BB IRE D B I 4575 & KEENAN #
4 BT
OBSERVED MAX. LOAD : AT EERME (SEEEIE & 2134 v 23T
CALCULATED MAX. LOAD : frifi s st 2ifE
LAY. DIST. RAT. (C-N) : FEfflld 5 &858 ¥ COMEM 0 RS % %
OBS. SH. STS. © #8358 i) % BUMT G S2 8l
CAL. SH. STS. | &35 Bt v % BUWiIs I 2 s
J-SH. STG. (JIS REGRES. 9cm?*-SH. STG.) : #ilF+ v 7R bHEE Uis JIS HAREA
o Y MR AR 24 11
K-SH. STG. (KEENAN’S CONV. NUMBER cm?-SH. STG.) : JIS HABEAM O 3M;
SHREE & BUMIHIR, (NUMBER) CHiIE L7cffl, (X435 5 § 7o & LR BiWis e i =
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Fo R IR & LB L CREMERHE D BT DD S D)
MAX. SH. POS. : SRS Do Jepist o spyr b
0. MAX. SH. STS. : HEERAMIGSERME, C. MAX. SH. STS. | RZARGREHE
OBS. MOR : #250# il BB R 28 {E, CAL. MOR : MZEZEAE
(OBS/CAL) : WhFREE, B ABIMIIREE S D 4 R MH & WIRFTFME & DR ERT,

. /8 avic &35 EOETFIE

w5 a4 ASANOGL. BAS
# # — + : LOAD “ASANOGL", RUN (f+5)
% W LTFofET TAJL) ANPUD) &3, BB ShBF 3T EF —
A= P BIRAATY 2 —vF— RETY 2T & EEKRT 5,

[1] EFHBFROZRER
SELECT YOUR JOB FROM THIS {MENU)
FTHEo JEHA L SFEET AEREE 0BT Y ANT 5. BHXO)OHE LRI TOR

PEEENE SN D, Fhictk RET) & — %30T L,

(1) M.O.Y., M.O.R., M.P.L. AND FIGURES OF NORMAL-STRESS-DISTRIBUTION,
SHEARING-STRESS-DISTRIBUTION AND LOAD~DEFLEXION CURVE IN
BENDING

RO T Y v 7R, MBS EAR, TR AREREK (G RHEL, BEGHS

A, SIS AR, T TOME~ oba ity RT 5, (MOY, MOR, MPL. ©

EIicoWTIE (BB 1] 2RO

2) M.O.Y. (MODULUS OF YOUNG), M.O.R. (MODULUS OF RUPTURE), AND M.

P.L. (MODULUS OF PROPORTIONAL LIMIT STRESS) IN BENDING
R O Y v 7R, BB, MTHRARERESC %, BERLTERDS L
EHE S,
(3) JOB END EEERT

[2] FHERE
PRELIMINARY JOB
W CRo 4 HE BT O TRER X Y “YES" 0 & E3HFE0 1 AIL, “NO”
D&Y &2 v —F— (RET> &#H,
(1) TO PRINTOUT ? YES <1> or NO <RET):
AHF = & L TUERA AT T 2 cdicik "YES” B#s, (i3] 2R
F g AND Ittt (AL [4] BO R4V R I UROAN D W » i) KB UG
ﬁ%%@%mvﬂ®k&T%@ﬁ@@7UVF7y%%%M(%éﬁ,ﬁ%@%%ﬂﬁb
WENS WO TOT RETY ¥ —% L TA*» 7Thifldve BEETRT IV T Y
b EEE R TFRLCAR T,
@ XX g, MM ey v R, K BEAEE, IX D HFEEE

ot



BEEA L

@ UL: %35 170k LC:£5 3 rolRES, LT 45 1 +0d IEREE
® LMR:LMP:LMQ: ZThFhBEms, HOIRE, WHRCGLT&T 3 0
ToHMFE— 2V OEEELRRT S, COFEIEHRBEND B,
@ UUL : $Mg, #3508 X CERRER QG BI5057, HBRoRCRAHT 215010
BT, EMABEL LI LT BHAUMNITERADEE Lty
(2) TO COMPARE OBSERVED DATA WITH CALCULATED VALUES ? YES <15
or NO <RET>
KR D » CZ N EFHHMHE & S5 & &1k “YES” %35,
(3) TO STOP AND DISPLAY EACH STEPS OF CALCULATION ? YES <I> or NO
{RET>
I OBEPRER % CRT ETHRL T ik “YES” #3355,
(4) TO SKIP THE FIGURES OF L~D CURVE AND OTHERS ? YES <1> or NO
(RET>
BHER HORERD 7 5 7HRREBIE Uig\ & &1 “YES” #8.8,

[3] B IFICOVTHERET— 5 DAHEDRIR

SELECT THE WAY OF DATA-INPUT
(1)  ALL DATA, DESCRIBED IN THIS PROGRAMME

HABRLFET BN 5wy vy s ahitififEn e FAEE LT, 1) »S5HO
T2, 2) A¥HMOF %, 3) v vHOBMBRT -2, 4) 5 v v OMMER”R
F=2PRAZTNT VS, 3) £4) L5 7 vARDEFAHED LDV S DTH
B

ST T AARIEEE T — gl TF -2 7y AN EELTCRO T 7= 75 A%
FoTnitve 70279 ALHlclF — 2 RBATHRET 4+ A7V 1% “OK" F5R & LT
“EDIT 1160" T7' w25 a0 F - 2 BAMEFOML, s — 2088 A 3T HITH
5 1150 O F — 2 2 BFI L THHS 1160 LA#%ic “DATA” & LT 88, vvIrk,
FERETREE, DU OINCEER E M2 5 0 E R DD, 53 FOF — 2 9 HEL T el
ZERTEPTEIRINCT — 2 ANPBTED, F7 40 METELE TS F — 2 ¥ CHRAT
&5 GEINTTEE,

(2) ALL FUNDAMENTAL VALUES, FROM KEY BOARD

LRI AT TR THEBAIHE R, BEWRTHETOT (1 reo&v v 7R, §
REE, EMMER I OELY ZOEIANT 5,

(8) YOUNG’S MODULUS PARALLEL TO THE GRAIN, FROM KEY BOARD
(30,000 < =Eb<=150,000 [kegf/cm?])

I 3 OMMET RO Y v S REATITHE TAMIEAV F 7y 2, BAREAMOA
FRBESE . D IRIERS « SIS 10 T R A AR 1w\ TR ab 7o BIGRSRIT I o Tl 5 i h
Iy v 7 R BER K OFERMRE 25 BBE & Lk, R hdERT 5,

STANDARD QUALITY (S.Q.) 34 0 FHREME I >vC, %7 LOW QUALITY
L.Q) BRI 2V THREFHIZ SR 9 7 T ARBE sl CAMBEME %3k b B, 58 “Eb” o5
T REE B R DI il Y v S ROWF AR (F e 75 alO Y v 7 RIDB 10k



HAEBURBIAR B i e B % BEPERYTFE Ok - WD

E” HGTWA), MRS 3 0EERM R oW TR O AN EYME S 0o EHACH
Bo
S.Q. : COMPRESSIVE STRENGTH : F.==0.00312 % Eb-+114

TENSILE STRENGTH t F1=0.00950 # Eb+69
L.Q. . COMPRESSIVE STRENGTH ! F.=0.00325 * Eb
TENSILE STRENGTH S Fp=0.00770 % Eb

7o e U Fo (REERESREE, Fo W5[RMEE, Eb kb v v 73,
(4) M.O.Y. (Eb), COMP. STG. (F.), AND M.O.R. (Fb) OF EACH LAMINA, FROM
KEY BOARD
KRR DA 7 I 7Ol v v 7 (Eb), EfERE F, My (Fh) 2 A
TT % GIRRE Y, B o PEE ARG R L 0 Fb & Fe L bl E LR
BLOIIcoTuB, FRERRMO T 3 oo CERENCRE 2R B854, BB 1
ROEECHENLEVOT, TOATFERREMAN AL LTH S & &3 k5,

[4] EBMIZOPWTOF—F ANFHE

DATA INPUT .

INPUT SPECIMEN’S NAME ? | 8UBEE B & A Or&, $fE, 88 bT)

INPUT NUMBER OF PLIES ?: #i#H 75 1 #u AN (F7 x4 fHEK 200 &,

)
TS & OB BEAH T 5D C, CRT ORI - CHEMRMS 2 -0 5HK

F =R ANT D, F— g AJHEE (3] HoSRe Ly, LTk 5wesdfins,
[3]o)BE CRT o Lific 7 r 75 aICEBA L THBEEDF — 2 OB
RIRENDHDT, TOPRNPLFHETHHES LRACHFCALT B, o2& KK
DECREASING RATE OF TENS. STG. (%) (<=90) ?
ERIGTSBDT, LT IFEKE, HHES a AV r e EDOMT EDRERD LEH
WE DB BRI DERR A BETAITHUEL 0BT, SET DT $ FDELE AN
Tho LNTFIRTD I 3 e &R AT R Y BT,
[3] DR)DHE  #£5 3 e oE M v v 7R, SEERE GREEBALELES E
WU, FHEREE, 7 3 FELROERADT 5,
[3] DBDBE T 7 3 F 0o v v 7% 30,000< =Eb< =150,000 [kgf/cm?)
DORHATATIT %, &I THlc
STANDARD QUALITY (5.Q.) OR LOW QUALITY (L.Q.) ?
EFGTL BDT, SQ AL RET)Y 721 “S” %, LQ. oB& "L” AT 5,
/4
DECREASING RATE OF TENS. STG. (%) (<=90) ?
RLCE, TR & AR R OEIRE 2 %Ml Q0%LLUT) TANT %, HLTT ¢
FOBLEATT S, UWTES 1 7e2& AN EE RS,
[3] oUWoBE  FEMNERD AT s Fe>2E iy v 7R (MOY), EMME
(Fb), EMTBEEEGRE (MOR) #ZOHRAJIT 3, MOR. Offitt Fc DfED@EIFE 2.5 %
DIFETH &, BIERE (FO @ MOR AN LB BHEARRINS, $iVCE
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R AR

D3I FOBRIZEANTE, LTFE5 $ Fie & ANERVET,
F e 2 DBIE . &TOF 3 FOF— 2 ANNELS &

ARE YOU OK ? IF OK THEN STRIKE <RET>.

IF YOU FOUND MISTAKES THEN INPUT NUMBER OF THE LAMINA
EHTRMBHOT, bLEE S TANILTWABERLZDOT 1 70FEELADL, LDF 1
FIBT AL TOF ~ 2 R ARET, ELWEER RETY & —% L Tk~

BOAAYEICEOAST 1 [1] FHAFHEOEER U eSe, Tk

INPUT SPAN L OF BEAM [cm] ? (BHlsrERo A <v)

INPUT BREADTH B OF BEAM [cm] ? (BHFEMTEHR O
LMWk B DT, BOFEMOAAY EROREATIT B, RI,

IF OK THEN STRIKE [RET] .

IF YOU FOUND MISTAKES THEN INPUT [ANY KEY]

L, dLERL2ABOMEE A NEERILFEF - %ML TCL LB LWL BIE
T 5, IELWE &L RETY # — % Lik~Hiir,

CRT LcoftfifREokn . [2] FHEEOB)T THHEOBRPHERECRT LCHER,
BEHR LA e T, @r%kmﬁﬁoﬁﬁ(ﬁwmﬁfﬁ B#tdov v 7 55185, Q
TR LLBIREE DR O f5 SR (IR ERE, v v 738D, @ Bl RBOF AR, »8
ZDIRIER IR S,

iz [1] #HEREOoBE THER L OEEIS ) B L UREHENERSh, 5lE
FeE THMWUGTIL wBIL, HRE EREOEGEITE KR L OHEMEI oW,
TR B 0 B I R 2 IS I R B S L RS h, roB 2k s
IOy v ZEBHEE Lic JIS SUNIRRE N O BIWITER CAIIE U /e KEENAN BB a6 B
DRI hERIND,

(1] Ao TREG ) BEOADBERBRIFRINS,

(2] TMBEQLIELTHHIHE, FRIEEFHMEE ORI EREIND,
shbit, RET #—THICKARF vy 715, BE%W (B3] 31,
FYIvET7or bl [2] FHMBEOIFBEOHEAT TV v b7y by BFERLT
REo o ¥ CcoMickn 57V v b 79 b Xhad, (B8 E8conwck (%3] &
<))

(1] sfEFEOBEDDOEAE
@ FERIMIWELEESHCoE Y v 2K, IMPTEERAR, T RIRR R R,
IHEBENBEMZ TSI v &b,
@ BUMIEIIC o & | RATTEORORY AT 5 £E5 8 OIS 0 KEE (5
{EAME VA w FOR) J6 X OBEEREHAEME, &5 3 7o JIS HY3IMIERE, KEENAN H24
SUMTIREE, Fofb, RIS GMMRIBO HRSIEIAIE) & BeRBIWIEII SR 7 ) v
FERB,
@ ERELHBEMEOE . [2] TMBEER)CHRERE & O LB R HEE U iclid o a i v
v 7R, TSR, RKIBIEC S T -2 AT Y v 8 hB,

[1] §HRFEHOBRERIDLHE
@ HERMOMTY v 7R, TSGR, LOARERE, SIUOABEEERTY v Eh

— 8 —
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Lo BUMTRG I toh X HE E ity
@ TIBRE CERRME L OB RIRE L B8 R ARR IR 5,
BESN O, BINIE S, FE~TchhliBoABBOHB LR YV v b7 o b
DA B ERDEFRBE N, P LHEYBEE [5] H~B5,
FIGURES OF STRESS-DISTRIBUTIONS AND LOAD~DEFLEXION CURVE
WAIT A MOMENT PLEASE !

[5] RIRT 357 0&R

SELECT GRAPHING JOB FROM THIS {MENU)
ROEDN)~ DDk b NI E 2R, BUESEATT 5,
(1) NORMAL STRESS DISTRIBUTION (GRG0 RIR)
(2) SHEARING STRESS DISTRIBUTION  (BYWRHS I 4A5 B7%)

(3) LOAD~DEFLEXION CURVE (T H ~ 7o A R IRIR)
(4) GRAPHING JOB END (RIRTESER T

YOUR SELECTION ? (1~4)
[5] -WBEIGHDHRF L RA LGS (Fig. 1) !
O BB EROZORK®— 2 v MR OME IR 5 BEIGHSHRERI A
%o BOHNHEHE (EERSEE, AMGER 253, I BR Sk, £85EE X 0d
VHhOMIEY, 28k 1 L L TEBER»SOFHBEYERCRELTCH D, MOEMCIETL
DX 5 TeBEM E L TCOELHERKRESERINS,
BRD (@), HGT (%), SPN (B 2-v), SH. A. Ry o 3k
MAX. L. O kK%iE), PP. LIM. L (VEAIRERE), MAX. DEF. (Bkich i)
PP. LIM. DEF. (WHIBREE /i), M.OY. (v v 7 %R), M.O.R. (FmsEs0
M.P.L. (WLBIRERED, MX. SH. (BRI D Z7 8 E o ABINTIR )
®@ THflre “MOVE CURSOR AND WRITE. <RET)> FOR NEXT STEPI” 50T
DI LY =Y v EBH L TR FEYTRAT S LB TE B, (RETY & — &l
WRD AT v F~Hits,
® THilc “NEED COPY <C>, OR PHOTO (P>, OR NEXT STEP (RET> ?” tii5B D
T, ~—Fa =358 “C" %, BEERLEE “P" 2ANT 5, RET) & — %
R~
@ TFHhc
(1) OTHER GRAPHS = (2) UNUSED (3} or <RET) OTHER LOAD LEVELS
‘1" AT (5] BRI 5277 708D ~F5,
2" W (@ERI,
“3” AN FE B RETY & — a3k~
® T
LOADING LEVEL ?
(1) Prop. Limit  (2) Mid Plastic Load  (3) Max. Load (4} NEXT STEP
(RET)
‘1" AT RSP E R ER ORI E b 5,

—_— G —



HEPSEA R

“2" AT SR P BB O WMHRIBO KB B,

“3" AT RIER AR ERORI~RE S,

47 R AT FE I RB (RETY &8 [5] R4 529 v 08I~ 5,

[5] -@3UMSH o ARR L RAEE S (Fig. 2) ¢
@ BRI ER OB OWTICR I 5 IS A 0RRRE NS, BEEIE

(EfE) . ME IR S C, 4k 1 & LCEHEEEIE & X Ohariiho (78 & AR 2 5 o~
Ho R i, e [5] -WoDrRE L,
@ [5) -Mo@rRL, @ [5] -Mo@rR L, @ [5] -Mo@wf L,
® Tl
LOADING LEVEL ?
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Studies on the elastic and the plastic bending of various types of glued
laminated wood beams (Supplementary complement)

Tkuo ASANO

This paper presents the BASIC Programme and its Instruction on the generalized
calculation-method of the bending moment and the deflexion in both elastic and plastic
conditions of glued laminated wood-beams composed of many numbers of laminae of
various kind of wood reported on the preceding paper “Bulletin of the Nagoya University
Forest No. 4 (1965)",
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() ¥m»7 7492+ (ASANOGL. BAS)

Programme name : ASANOGL. BAS by I. Asano [Ver. 5]

1000 CLEAR:¥WIDTH 80:CONSOLE ,,0,1:CLS 3:COLOR 4
1010 PRINT P22221727222222127721277727277272222727220212717230227227222112277
1020 PRINT "Z [NBBBASIC] Programme Name: ASANOGL.BAS [Ver.5] Z
1030 PRINT "Z [ASANO:Studies on the Elastic and the Plastic Bending of Z
1040 PRINT "2 Various Types of Glued Laminated Wood Beams (1962)] 17
1050 PRINT ”Z [BENDING STRENGTH ,DEFLECTION ,SHEARING STRESS AND THEIR Z
1060 PRINT ”Z  FIGURES OF GLUE-LAMINATED BEAMS] YA
1070 PRINT ”Z (E):YOUNG’'S MODULUS (Fb):BENDING STRENGTH (Fc):COMP.STG. Z
Z
Z
A
A

10680 PRINT ”Z (Ft):TENS.STG. (DECR.ofT.STG.):DECREASING RATE OF TENS.STG.

1090 PRINT "Z (Fc):COMP.STG. (HL):THICK. OF LAMINA  (KIND):K. OF LAMINA

1100 PRINT "2 Programmed by I. Asano Ver.1:1985, Ver.4:1992

1130 PRINT "ZZ2Z2Z272227722222222277122222202222722222222270277777272222227
1120 COLOR 7:FOR M=1 TO 2000:NEXT H

1130 REM ==== Qrder of Data: NAME, M.0.Y., COMP.STRENGTH, TENS.STRENGTH ======z
1140 DTN=8 :DIM ZNAS(DTN),ERE(DTN),FFCC(DTN),FFTT(DTN)

1150 DATA NARA,127000,430, 1050, SUGI,53000,240,560

1160 DATA LAUAN//F,110000,435, 770, LAUANHF,7000 , 70, 40

1170 DATA D5 , , s »D6 ) , ,
1180 DATA D7 s , , ,08 , » ,
1180 REM ============z== Selection of Job =z

1200 CLS: PRINT:PRINT:PRINT

1210 COLOR 6:;PRINT "[1] SELECT YOUR JOB FROM THIS << MENU >>”:PRINT:COLOR 4

1220 PRINT : PRINT " (1) H.0.R, M.0.Y, M.P.L., AND FIGURES OF NORMAL-STRESS-DISTRIBUTION,

SHEAR- STRESS-DISTRIBUTION AND LOARD™DEFLEXION~CURVE IN BENDING”

1230 PRINT: PRINT ” (2) M.0.R(MODULUS OF RUPTURE), M.0.Y(MODULUS OF YOUNG) AND M.P.L.(HMODULUS
OF  PROPORTIONAL LIMIT STRESS) IN BENDING”

1240 PRINT:PRINT ” (3) JOB END ”: PRINT :PRINT

1250 COLOR 6:INPUT”YOUR SELECTION ? (173) IF STRIKE <RET>, THEN CHOICED (1) ”,ITH :PRINT
1260 IF ITM=0 THEN ITH=1 REM ~-( Skip to (4) by <RET>key )----=w———mm

1270 IF ITH=3 THEN 6530

1280 IF ITH<1 OR ITH>3 THEN 1200

1290 IF ITM=1 THEN LD$="Y":SHE$="Y"

1300 IF ITHM<>1 THEN GRP$="1"

1310 REM ===z===z==z=z= Requests on Display and Printout
1320 CLS 3:COLOR 6:LOCATE 0, 5:PRINT "[2] PRELIMINARY JOB”

1330 LOCATE 1, B:INPUT”(1) TO PRINTOUT ? -—- YES<I1> or NO

<RET> ”,PRT$

1340 LOCATE 1,10:INPUT”(2) TO COMPARE OBSERVED DATA WITH CALCULATED VALUES 7 ~-- YES<1> or NO
<RET> ”,CHP$

1350 LOCATE 1,12:INPUT”(3) TO STOP DISPLAY AT EACH STEPS OF CALCULATION ? - YES<1> or NO

<RET> ”,STP$

1360 IF ITM=2 THEN 1380

1370 LOCATE 1,14:INPUT”(4) TO SKIP FIGURE DISPLAY OF STRESS & L™D-RELATION 7 --

<RET> ”,GRP$

1380 IF PRT$="1" THEN CLS 3: COLOR 3:LOCATE 10,10: PRINT ” PLEASE PRINTER POWER ON !”:COLOR §
:FOR M=1 TO 3000:NEXT M

1380 REM ===z=z=z=z Selection of the Way of Data-Input 1

1400 CLS 3:PRINT:PRINT:PRINT

1410 COLOR 6:PRINT”[3] SELECT THE WAY OF DATA-INPUT”:PRINT:COLOR 4

1420 PRINT:  PRINT” (1) ALL DATA, DESCRIBED IN THE PROGRAM strike <1> & <RED>”

1

YES<1> or NO




1430 PRINT:  PRINT” (2) ALL FUNDAMENTAL VALUES, FROM KEY BOARD  strike <2> & <RETY”
1440 PRINT:  PRINT” (3) YOUNG'S MODULUS PARALLEL TO THE GRAIN, FROM KEY BOARD

(30,000<= E <=150,000 [kgf/cm2]) strike <3> & <RED>”
1450 PRINT:  PRINT” (4) M.0.Y.(Eb),COMP.STG.(Fc) AND M.0.R(Fb) OF EACH LAMIA, FROHM KEY BOARD
( Fb < 2.5%Fc ) strike <4> & <RED>”

1460 PRINT:PRINT:COLOR 6:INPUT”WHAT’S YOUR SELECTION ? (174)  ”,DAA :FRINT

1470 IF DAA=1 THEN GOTO 1480 ELSE IF DAA=2 THEN GOTO 1480  ELSE IF DAA=3 OR DAA=4 THEN 1490
ELSE CLS:GOTO 1380

1480 GOSUB *SUBR.1 : GOTO 1480

1490 REM ====z====== Setting of DIM

1500 N=200

1510 DIM JJ(2%N+2),JJ1(2%N), JC(2%N), JC1(2%N), JCR(24#N), JCP(2%N) , JCA(2%N), JCS(2%N) , EE(2%N), CC(2%
N, TT(2%N) REM --( Max.Num. of Laminae is to be 200)~------

1520 DIM NAMS(N),QUS(N),EQN), FCON), FT(N), FB(N), HL(N), LCCN) , LT (N), ULCN+1), J(N+ 1), LH(N), TSA(N)
1530 DIM LLT(2%N),LLC(2%N), JIP(2%N),JIR(2%N), JIQ(2%N),JIS(2%N), UUL{2#N), UULR(2%N),UULP(2%N),
UULBC2%N) , UULS(2%N)
1540 DIM JH(2HN), IMI(2#N), JHR(Z*N) , JHP(2HN), IMQC2%N) , THS(25N), AC2HN), ZZ(N),QQLN) , VV(N) ,HH(ND,
LL{N)
1550 DIM LST(2%N),SLST(2*N), TYT(N+1),TYE(N+1),SVY(N),SVE(N), KST(N) ,NL(N+ 1), NNL(2%N+1) ,FP(2%N)
1560 DIM JSTSCZHN),JSTSRC2%NY, LHR(N)Y,JSTSP(2%N), LMP(N), JSTSS(2#N), LHS(N), JSTSR(2%N), LHQ(N)
1570 DIM ULB(N+1),ULBR(N+1),ULBP(N+1),ULBS(N+1),ULBQ(N+1)
1580 DIW JSTSB(N+1), JSTSBR(N+1), JSTSRP(N+1),JSTSBS(N+1), JSTSBQ(N+1)
1580 N=500:DIH X{N),NDCND,DN,2),R(N),DT(N, 2),DTT(N,2), BR(N, 2)
REM --( DIM for Load Deflexion Curves )
1800 N=300:DIM HIP(N+1),HRL(N+1),HST(N+1), SHST(N+1), HYT(N+1),SL(N+1),SNL(N+1), SH(N+1) ,KS(H+1),
JS(N+1),DH(N+1),DSR(N+1) :REM --(DIM for Shear Stress Distributions)---=-—mmmww-
1610 REM Z2Z27227277Z2Z2127Z777 DATA INPUT Z2Z2Z71Z777227ZLLZ27222222220200022222211221
1620 REM --wmmmm RE-START -
1630 CLS 3:COLOR 6:LOCATE 0, 3:PRINT ”[4] DATA INPUT ”:PRINT:COLOR 5
1640 LOCATE 4, 5:INPUT”INPUT SPECIMEN’S NAME ?:NSP$ :COLOR 6:PRINT
1650 LOCATE 4, 7:INPUT “INPUT NUMBER OF PLIES N ;N :IF N=0 THEN 1650
1660 22=1:20=1:ZP=1:NC=N:GM=10:PE=0:HL=0
1670 PRINT:PRINT
1680 CLS 3:COLOR 4: PRINT ” DATA”
1690 IF DTN=0 THEN GOTO 1750
1700 IF DAA=1 THEN 1720
1710 IF DAA=3 THEN PRINT ” 30,000< E <150,000 [kgf/cm2]}”:GOTO 1750 ELSE 1750
1720 FOR GQ=1 TO DIN
1730 PRINT "(”;08;™)”;ZNA$(QQ),
1740 NEXT QQ :G0T0 1750
1750 REH —-—-nmm DATA-IN 2 -
1760 COLOR 6: LOCATE 0, 3: PRINT “Input DATA of each Lamina ; order from Compression Side to
Tension side”:COLOR 4
1770 LOCATE 1, 4:PRINT ” »
1780 LOCATE 10, 4:PRINT "LAMINA ™
1780 LOCATE 26, 4:PRINT “YOUNG.MOD.”
1800 LOCATE 38, 4:PRINT "COMP.STG.”
1810 LOCATE 50, 4:PRINT “TENS.STG.”
1820 LOCATE 62, 4:PRINT ”LAM.THICK.”
1830 LOCATE 0, 5:PRINT "NO. KIND DECR. -T.STG.(%)”
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1840 LOCATE 26, 5:PRINT ”[kgf/cm2]”

1850 LOCATE 38, 5:PRINT "[kgf/ca2l”

1860 LOCATE 50, §:PRINT ”[kgf/cm2]”

1870 LOCATE 62, 5:PRINT "[cm]”

1880 COLOR 6: IF DAA=1 THEN 2060 ELSE 1880

1890 IF NCSGH AND NC>PE THEN PE=GH ELSE PE=NC

1800 FOR P=1 TO PE

1910 LOCATE 0,5+P:PRINT SPACE$(220)

1920  LOCATE 0, 5+P :PRINT ZZ

1930  LOCATE 25, 5+P :INPUT B(ZZ): IF E(ZZ)=0 THEN 1830

1940 MM=ZZ: IF DAA=3 THEN 1850 ELSE 1860

1950 GOSUB *SUBR.2:LOCATE 0,20:PRINT SPACE$(80):G0T0 2000

1960 LOCATE 37, 5+P :INPUT FC(ZZ): IF FC(ZZ)=0 THEN 1860

1970 IF DAA=4 THEN LOCATE 57,5+P:PRINT” ":LOCATE 49,5+P:COLOR 3:INPUT"M.0.R. ?sFB(ZL) :LOCATE
30,21: PRINT SPACE$(25):COLOR 6: IF FB(ZZ)=0 OR FB(ZZ)>2.5%FC(ZZ) THEN COLOR 3:LOCATE 30,21:
PRINT”NOTICE ¢ 0 < M.0.R. <=2.5%Fc”:G0T0 1870

1980 IF DAA=4 THEN GOSUB *SUBR.4:LOCATE 48,5+P:PRINT SPACE$(15):LOCATE 49,5+P: PRINT FT(Z2)
:GOTO 2000

1990  LOCATE 49, 5+P :INPUT FT(ZZ): IF FT(ZZ)=0 THEN 1990

2000 LOCATE 61, 5+P :INPUT HL(ZZ):IF HL(ZZ)=0 THEN 2000

2010 Z1=L2+1

2020 NEXT P

2030 ZQ=7Z-PE:GOSUB *SUBR.3

2040 IF PECNC THEN NC=NC-GM: GOTO 2050 ELSE GOTO 2250

2050 IF DAA=1 THEN 2060 ELSE 1880

2060 COLOR 6

2070 IF NC>GM AND NCPPE THEN PE=GM ELSE PE=NC

2080 FOR P=1 T0 PE

2080 LOCATE 0, 5+P :PRINT ZZ

9100  LOCATE 4,5+P:PRINT SPACE$(220):LOCATE 4,5+P :INPUT ”DATA No.=";NOD

2110 IF NOD>DTN OR NOD=0 THEN GOTO 2100

2120  LOCATE 18,5+P:COLOR 3: INPUT "DECREASING RATE OF TENS. STG. (%) (<=080)":TSQ(ZZ): COLOR 6:
LOCATE 4,5+P:PRINT SPACE$(70):1F TSQ(ZZ)>90 THEN 2120

2130 LOCATE 4, 5+P :PRINT ” ”

2140 NAM$(ZZ)=ZNA$CNOD): E(ZZ)=ERE(NOD): FC(ZZ)=FFCC(NOD): FT(ZZ)=FFTT(NOD)*(1~TSQ(ZZ)/100)
2150  LOCATE 4, 5+P :PRINT NAM$(ZZ)

2160  LOCATE 15, 5+P :PRINT TSQ(ZZ)

2170 LOCATE 26, 5+P :PRINT E(ZZ)

2180  LOCATE 38, 5+P :PRINT FC(ZZ)

2190  LOCATE 50, 5tP :PRINT FT(ZZ)

2200 LOCATE 62, 5+P :INPUT HL(ZZ):IF HL(ZZ)=0 THEN 2200

2218 ZZ=l1+1

2220 NEXT P

2230 7Q=2Z-PE:GOSUB *SUBR.3

2940 IF PE<NC THEN NC=NC-GM:G0TC 2080 ELSE GOTO 2250

2250 REM === Total Thickness
2260 LOCATE 35,PE+7:PRINT “TOTAL THICKNESS OF LAMINA”

2270 LOCATE §2,PE+7:PRINT HL:COLOR 6

2280 IF PRT$<>”1” THEN 2310

2290  LPRINT " TOTAL THICKNESS (HEIGHT OF BEAM)”;
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2300  LPRINT USING”#i#$. #H44”HL : LPRINT

2310 IF ITM=1 THEN 2320 ELSE IF ITM=2 THEN 2390

2320 REM ~~--- Input Span & Width of Beam to get L™D curve and Shear-stress ~-

2330 PRINT :PRINT :PRINT

2340 IF LD$O”Y” AND SHE$<>”Y” THEN 2480

2350 LOCATE 3,19:PRINT SPACE$(160): LOCATE 3,18:INPUT ” INPUT SPAN I OF BEAM [cm] ";L: IF
1=0 THEN GOTO 2350

2360 LOCATE 3,20:INPUT ™ INPUT BREADTH B OF BEAM [cm] ”;B :IF B=0 THEN GOTO 2360

2370 LOCATE 0,22:COLOR 3:INPUT”IF OK THEN STRIKE [RETURN]. IF YOU FIND MISTAKE THEN INPUT [ANY
KEY] ”;VV$:LOCATE 68,22:PRINT ” *:LOCATE 28,19:PRINT” ¥ LOCATE 28,20:PRINT” "

LOCATE 69,21:PRINT” ?

2380 IF VV$<O""THEN COLOR 7:GOTO0 2350

2380 IF CMP$="" THEN 2480

2400 REM ===== Input of Experimental Values in Bending

2410 CLS:COLOR 5:LOCATE 1, 5:PRINT "INPUT THE EXPERIMENTAL VALUES IN BENDING !”:COLOR 6:LOCATE
10,7:PRINT SPACE$(250)

2420 LOCATE 10, 7:INPUT "M.0.Y. [kgf/cm2] ”;EPE: EPEI=INT(.5+EPE):IF EPE=0 THEN 2420
2430 LOCATE 10, 9:INPUT “M.0.R. [kgf/cm2] s FBRE: FBREI=INT(, 5+FBRE%10)/10: IF FBRE=0 THEN
2430

2440 IF ITH=2 THEN 2460

2450  WRE=2%FBRE%B*HL"2/L/3:WREI=INT(.5+WRE%10)/10

2480 LOCATE 5,11: COLOR 3: INPUT “ARE YOU OK ? 1IF OK STRIKE <RET> ELSE STRIKE ANY KEY ";MIS$:
IF MIS$<>™” THEN LOCATE 59,11:PRINT ” ":GOT0 2410

2470 REM ZZ222227277727212Z22717 CALCULATION ZZZZZZ1ZZ2222272727200021282122122L7817

2480 REM ~~rweme Calculation(l) Unification of Data ---——

2480 UL(0)=0 : HS=0 : H=HL

2500 FOR I=1 TO N

2510 LC(I)=FC(I)/ECI):LT(I)=FT(I)/E(1)

2520  HS=HS+HL(I) : UL(I)=HS/HL

2530 NEXT I

2540 REM ===== Printout of Fundamental Values for Calculation =====s====zz=z=z==

2550 CLS 3:COLOR 5

2560 IF PRT$="1" THEN PRINT: PRINT: PRINT "PRINTOUT XX,MM,JK,JX :”:PX=0:PRINT:INPUT" IF
PRINTOUT THEN INPUT <1> ELSE STRIKE <RET> ”:PX

2570 IF PRT$="1" THEN: PRINT: PRINT: PRINT " PRINTOUT UL,LC,LT :”: PO=0: PRINT: INPUT” IF
PRINTOUT THEN INPUT <1> ELSE STRIKE <RET> ”;PD

2580 IF PRT$="1" THEN PRINT:PRINT: PRINT "PRINTOUT HOMENT RATIO OF EACH LAMINA LM(I) :”:PY=0:

PRINT:INPUT ” IF PRINTOUT THEN INPUT <1> ELSE STRIKE <RET> ”;PY

2590 IF PRT$="1" THEN PRINT: PRINT:PRINT "PRINTOUT STRESS DISTRIBUTIONS :”:PZ=0:PRINT:INPUT ”

IF PRINTOUT THEN INPUT <1> ELSE STRIKE <RET> *;PZ

2600 CLS:COLOR 7:IF PO<>1 THEN GOTO 2740

2610 LPRINT ”DISTANCE RATIO OF EACH LAYER FROM COMPRESSION SIDE: UL”

2620 FOR I=1 TO N

2630 LPRINT ” UL(";I;7)=";ULCL)

2640 NEXT I

2650  LPRINT "COMPRESSIVE PROP,LIM.STRAIN: LC”

2660 FOR I=1 TO N

2670 LPRINT ™ LC(";1;7)=";LCCI)

2680 NEXT 1

2690  LPRINT "TENSILE LIHIT STRAIN: LT”



2700 FOR I=1 TO N

2710 LPRINT » LT(";1;")=";LT(D)

2720 NEXT 1

2730 REM ===== Dual Arrangement of Basic Data at each Glue Layers =z=zz=========

2740 FOR I=1 TO N

2750  P=2%I-1: EE(P)=E(I): CC(P)=-FC(1):LLT(P)=LT(1):LLE(P)=~LC(1):TT(P)=FT(1):UUL(P)=UL(I-1)
2760 P=2%I ¢ EE(P)=E(I): CC(P)=-FC(I):LLT(P)=LT(I):LLC(P)=~LCCI):TT(P)=FT(1): YUL(P)=UL(I)
2770 NEXT 1

2780 REM --~---- Calculation(2) Calculation of Bending Strength -~--~-=-----
2780 ON ITH GOTO 2800, 2800,8530

2800 DV=0 :REM ~--Dvision 1=Max.Load, 2=Prop.Lim.Ld., 3=Mid-plastic Ld.--
2810 Dy=DV+1 : ON DY GOTO 2820,3030,3230

2820 REM ~mwmomm Calculation(2-1) Rupture in Bending ~-

2830 PRINT :PRINT ” (1) == RUPTURE IN BENDING =="

2840 ULK=UL(N) : JE=LLT(2%N)

2850 SM=0 : K=N:KR=N : KJJ=2%K : GOSUB *SUBR.5 : GOSUB *SUBR.6

2860 EMX=E(N)

2870 FOR I=N T0 1 STEP ~1

2880  IF EMY>=E(I) THEN 2880 ELSE EMX=E(I):K=I

2880 NEXT I

2900 IT K=N THEN 2960

2910 JK=LLT(2%K) : KJJ=2#K : ULK=UL(K) : GOSUB %SUBR.5

2920 IF MM<=MM1 THEN 2930 ELSE GOSUB ®SUBR.6

2930 IF K=(N~1) THEN 2880 ELSE K=N-1:JK=LLT(2%K):KJJ=2%K:ULK=UL(K)
2940 GOSUB *SUBR.5

2950 IF MM<=MM1 THEN 2960 ELSE 3000

2960 FOR P=1 TO 2%N

2870 JHR(P)=dM1(P) « JIR(P)=JJ1(P) : JCR(P)=JC1(P)

2980 NEXT P

2890 SMR=SM1:MMR=MM1:XXR=XX1:JKR=JK1:SSTR=8ST1:KR=K1:KJJR=KJJ1 : GOTO 3320
3000 XR=K:KJJR=KJJ:GOSUB *SUBR.6

3010 K=K-1 ¢ JK=LLP(2#K) : KJJ=2%K : ULK=UL(X)

3020 GOTO 2940

3030 REM =mmwwmm Caleulation(2-2) Prop.Limit in Bbending~—=r=w===mmmmm———————
3040 PRINT :PRINT ” (2) == PROPORTIONAL LIMIT IN BENDING =="

3050 K=0 : KJJ=1 : ULK=UL(0) : JK=LLC(1) : SM=0

3060 IF ITH=1 AND ABS(JK)>ABS(JJR(1)) THEN JK=JJR(1)

3070 GOSUB *SUBR.5

3080 GOSUB *SUBR. &

3090 FOR P=1 TO 2%N

3100 IF JJ1(P)>0 THEN 3120

3110 IF ABS(JJ1(P))>ABSCLLC(P)) THEN 3180 ELSE 3130

3120 IF JJI(P)>LLT(P) THEN 3190

3130 NEXT P

3140 FOR P=1 TO 2%N

3150 JHP(P)=JM1(P) : JIP(P)=JJ1(P) : JCP(P)=JCI(P)

3160 NEXT P

3170 SMP=SM1:MMP=HM1:XXP=XX1:JKP=JK1:88TP=8ST1:KP=K1:KJJP=KJJ1 : GOTO 3320
3180 JK=LLC(P):G0TO 3200

3180 JK=LLT(P)
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3200 Y=INT(P/2+.3)
3210 ULK=UL(Y): K=Y: KJJ=P: GOSUB *SUBR.5
3220 GOTO 3080

3230 REM ~=weomm Calculation(2-3-2) in a Mid-Plastic Condition ———==r====mm

3240 PRINT :PRINT ” (3) == MID PLASTIC BENDING FOR SUCCESSIVE CALCULATION =="

3250 K=N : ULK=UL(K) : KJJ=2%K : SM=0

3260 LLCK=ABS(JJP(2%N)) : LLTK=ABS(JJR(2%N))

3270 JK= LLCK+(LLTK-LLCK)/4 : GOSUB #*SUBR.5 : GOSUB *SUBR.B

3280 FOR P=1 TO 2%N

3280 JMQ(R)=JML(P) : JIQ(P)=JI1(P) : JCQ(P)=JC1(P)

3300 NEXT P

3310 SMO=SM1:HMQ=MM1:XXQ=XX1:JKG=JK1:S5TQ=SST1:KQ=K1:KJJQ=KJJ1: GOTO 3320

3320 REM ~=wmmmm Results on E, Fb, NL
3330 FOR I=1 TO N

3340 P=2xI : LM(D=(IM1(P-1)+IH1(P))/SH1

3350 NEXT I

3360 E=12%XX1 : FB=6%MM1

3370 NL=INT(-JJ1(1)*1000/(IJ1{2%N)-JJ1(1)))/1080

3380 REM ====== Calculation (3) Normal Stress Distribution

3380 FOR I=1 TO N

3400  P=2%I~1

3410 IF JJ1(P)<=0 AND JJ1(P)>=LLC(P) THEN 3430

3420 IF JJ1(P)<=0 AND JJL(P)LLC(P) THEN 3440 ELSE 3510
3430 JSTS(P)=JJ1(P)*EE(P) :ULB(P)=0:JSTSB(P)=0:G0OT0 3600
3440 JSTS(P)=LLC(P)*EE(P)

3450  IF P=2%1 THEN GOTO 3510

3460 ULC=0 : UL(0)=0 : ULC2=0 : ULC=UL(I-1):ULC2=UL(D)
3470 ULB(P)=NL~- (NL-ULC)*LLC(P)/JJL(P)

3480  JSTSB(P)=LLC(P)*EE(P)

3490 IF ULB(P)<ULC OR ULB(PY>ULC2 THEN ULB(P)=0 :JSTSB(P)=0
3500  GOTO 3600

3510 REM ~=wmowm Case of Tensile strain
3520 IF JJL(P)>0 AND JJ1(P)<=LLT(P) THEN 3540

3530 IF JJL(P)>0 AND JJ1(P)>LLT(P) THEN 3550 ELSE 3600

3540  JSTS(P)=JJ1(P)*EE(P) :ULB{P)=0:JSTSB(P)=0:GOT0 3600
3556  JSTS(P)=0

3560  IF P=(2%I-1) THEN 3600

3570 ULT=0 : UL(0)=0 : ULT=UL(I):ULT2=UL(I-1)

3580  ULB(P)=NL# (ULT-NLY*LLT(P)/JJ1(P) : JSTSB(P)=LLT(P)*EE(P)
3580  IF ULB(PY>ULT OR ULB(P)<ULTZ THEN ULB(P)=0:JSTSB(P)=0
3600 IF P=2%1 THEN 3620

36106 P=2%1 :GOTO 3410

3620 NEXT I

3630 ON ITH GOTO 3840,3640

3640 ON DY GOTO 3650,4060 ,4420

3650 REM ~mmwmwmm Case of max.load Rl
3660 ER=E:ERI=INT(.5+E):FBR=FB:FBRI=INT(,5+FB*10)/10:NLR=NL

3670 PRINT”RUPTURE IN BENDING”

3680 JRCI=INT(.5+(JIR(1)*1076))/10°6: JRTI=INT(.5+(JIR(2xN)*1078)) /1076

3690 PRINT "APPARENT M.0.Y: ER=";ERI;”[kgf/cm2]”,”COMP.SIDE STRAIN:JRC=";JRCI
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3700 PRINT ” H.0.R:FBR=";FBRI;” [kgf/cu2]”,”TENS.SIDE STRAIN:JRT=";JRTI

3710 PRINT ” NEUT.LINE: NL(c-n)=";NLR

3720 IF PX<>1 THEN GOTO 3750

3730 PRINT "XXR=":XX1;" MMR=";MM1;” KJJR=";KJJ1;” JKR=";JK1;” JXR=";JJR(1)

3740 IF PRT$="1" THEN LPRINT “XXR=";XX1;” MMR=";MM1;” KJJR=";KJJ1;” JKR=";JK1;” JXR=";JJR(1)
3750 IF PY<>1 THEN GOTO 3800

3760 IF PRT$="1" THEN LPRINT:LPRINT”#*RUPTUREx* MOMENT RATIO OF EACH LAMINA : LM(I)”

3770 FOR I=1 TO N

3780  PRINT™ LMR(”;1;™)=";LM(I) : IF PRT$="1" THEN LPRINT ” LMR(";1;")=";LM(I)

3790 NEXT I

3800 IF STP$="1" THEN COLOR 5:PRINT:INPUT”STRIKE <RET> TO NEXT STEP !”,0:COLOR 7:CLS

3810 IF PZ<>1 THEN GOTG 3980

3820 PRINT "STRESS DISTRIBUTION”": IF PRT$="1" THEN LPRINT SPACE$(11);”%* STRESS DISTRIBUTION:

HuL(D”
3830 FOR I=1 TO N
3840 P=2%I-1

3850  PRINTZUUL (7;P;™)=";INT(.5+1000%UULCP))/1000;” JIRCT;P;”)="; INT(. 5+1E4+06%JJ1(P)) /1E+06;
» JSTSR(”;P;™)="; INT(.5+JSTS(P))

3860  IF PRT$="1” THEN LPRINT "UUL (;P;”)=";INT(.5+1000%UUL(P))/1000;”  JIR(7;P;™)=";INT(.5
+1E+06%JI1(P))/1E+06;”  JSTSR(?;P;”)="; INT(.5+JSTS(P))

3870 PRINT “ULBR(”;P;”)=";INT(.5+1000%ULB(P))/1000; ~ »? JSTSBR(”;P; )=
1 JSTSB(P)

3880  BRK$="UNDO”

3890  IF PRT$="1" THEN IF ULB(P)=0 THEN LPRINT”ULBR(”;P;”)=";BRK$;” vy
JSTSBR(”:P;")=";BRK$ ELSE LPRINT”ULBR(”;P;”)=";INT(.5+1000%ULB(P))/1000;" "
27 ISTSBR(? ;P37 )=";INT(.5+J8TSB(P))

3900 P=P+1

3910  IF PRT$="1" THEN IF ULB(P)=0 THEN LPRINT”ULBR(;P;”)=";BRK$;" "y
JSTSBR(”;P;”)=";BRK$ ELSE LPRINT”ULBR(”;P;”)=";INT(.5+1000%ULB(P))/1000;” ”
17 JBTSBR(?;P;™)="; INT(. 5+JSTSB(P))

3920  PRINT "ULBR(”;P;”)=";INT(.5+1000%ULB(P))/1000;" 7? JSTSBR(";P;")=
" JSTSB(P)

3930  IF PRT$="1" THEN LPRINT "UUL (”;P;”)=";INT(.5+1000%UUL(P))/1000;”  JIR(7;P;™)=";INT(.5
+1E+06%JJ1(P))/1E406;™  JSTSR(”;P;™)=";INT(.5+JSTS(P))

3940 PRINT VUL (7;P;™)="; INT(.5+1000%UUL{P))/1000;” JIR(";P;”)="; INT(.5+1E+06%JJ1(P))/1E+08
" JSTSR(”;P;”)=";INT(.5+JSTS(P))

3950  IF PRT$="1” THEN LPRINT STRING$(85,”-")

3960  PRINT STRING$(65,”-")

3970 NEXT I

3980 IF STP$="1" THEN COLOR 5: PRINT:INPUT”STRIKE <RET> 70 NEXT STEP”,0:COLOR 7:CLS

3990 FOR I=1 TO N

4000 LMRCID)=LM(I)

4010 NEXT I

4020 TOR P=1 TO 2%N

4030 JIR(P)=JJ1(P): UULR(P)=UUL(P): JSTSR(P)=JSTS(P):ULBR(P)=ULB(P):JSTSBR(P)=JSTSB(P)

4040 NEXT P

4050 IF ITM=1 OR ITM=2 THEN 2810

4060 REM ~-~---- Case of Prop.Limit Load
4070 EP=E:EPI=INT(.5+E):FBP=FB:FBPI=INT(.5+FB*10)/10:NLP=NL

4080 JPCI=INT(.5+(JIPC1)%1076))/10"6: JPTI=INT(. 5+ (JIP(2%N)*1076))/1076




4090 PRINT”PROPOTIONAL LIMIT IN BENDING ”

4100 PRINT ” H.0.Y: EP=";EPI;”[kgf/cm2]”,”COMP.SIDE STRAIN:JPC=";JPCI

4110 PRINT “APP.BEND.STRESS FBP=";FBPI;"[kgf/cn2]”, ”TENS SIDE STRAIN:JPT=";JPTI

4120 PRINT ™ NEUT.LINE: NL(c-n)=";NLP

4130 IF PY<>1 THEN GOTO 4170 ELSE IF PRT$="1" THEN LPRINT: LPRINT”**PROP.LIM.%k MOMENT RATIO
OF EACH LAMINA: LM(I)”

4140 FOR I=1 TO N

4150 PRINT” LMP(";1;™)=";LM(I) : IF PRT$="1" THEN LPRINT * LMP(”;1;”)=";LM(1)

4160 NEXT I

4170 IF STP$="1" THEN COLOR 5:PRINT:INPUT “STRIKE <RET> TO NEXT STEP”,0:COLOR 7:CLS

4180 IF PZ<>1 THEN GOTO 4350 ELSE PRINT"STRESS DISTRIBUTION”:IF PRT$="1" THEN LPRINT SPACE$(11
)37k STRESS DISTRIBUTION: UULCTY”

4190 FOR I=1 TO N

4200  P=2%]-1

4210 PRINT "UUL (7;P;")=";INT(.5+1000%UUL(P))/1000;” JIPC";P;”)="; INT(.5+1E+06%JJ1(P))/1E+06
i JSTSP(” ;P37 )="; INT(.5+JSTS(P))

4220 IF PRT$="1" THEN LPRINT “UUL (”;P;”)=";INT(.5+1000%UUL(P))/1000;"  JIP(";P;")=";INT(.5

+1E+06%JJ1(P))/1E+06;” JSTSP(”; Py”)=" INT(.5+JSTS(P))

4230 PRINT "ULBP(";P:”)="; INT(.5+1000%ULB(P))/1000; ” 7" JSTSBR(”;P;")=
7+ JSTSB(P)

4240  BRK$="UNDO”

4250  IF PRT$="1" THEN IF ULB(P)=0 THEN LPRINT"ULBP(”;P;")=";BRK$;” Py

JSTSBP(";P;”)=";BRK$ ELSE LPRINT "ULBP(”;P;”)="; INT(.5+1000%ULB(P))/1000;" ”
+” JSTSBP(";P;”)=";INT(.5+JSTSB(P))

4260  P=pP+1

4270 IF PRT$="1" THEN IF ULB(P)=0 THEN LPRINT”ULBP(”;P;”)=";BRKS$;" e

JSTSBP(”;P;”)=";BRK$ ELSE LPRINT "ULBP(”;P;™)="; INT(.5+1000%ULB(P))/1000;" *
37 JSTSBP(”;P;")=";INT(.5+JSTSB(P))

4280 PRINT "ULBP(";P;”)="; INT(.5+1000%ULB(P))/1000; "% JSTSBP(";P;")=

"1 J8TSB(P)

4290 IF PRT$="1" THEN LPRINT “UUL (”;P;”)=";INT(.5+1000%UUL(P))/1000;”  JIP(?;P;™)=":INT(.5
+1E+06%JJ1(P))/1E+06;” JSTSP(”; P;”)="; INT(,5+JSTS(P))

4300 PRINT "UUL (7;P;”)="; INT(.5+1000%UUL(P)Y/1000;” JIRC?;P;”)="; INT(.5+1E+06%JJ1(P))/1E+06
37 JSTSR(”:P;”)=";INT(.5+JSTS(P))

4310  IF PRT$="1" THEN LPRINT STRING$(85,”-")

4320  PRINT STRING$(65,”-")

4330 NEXT I

4340 IF STP$="1" THEN COLOR 5:PRINT:INPUT”STRIKE <RET> TO NEXT STEP”,0: COLOR 7:CLS

4350 FOR I=1 TO N

4360  LMPCI)=LM(I)

4370 NEXT I

4380 FOR P=1 T0 2%N

4390 JIP(P)=JJ(P): UULP(P)=UUL(P): JSTSP(P)=JSTS(P): ULBP(P)=ULB(P): JSTSBP(P)=JSTSB(P)

4400 NEXT P

4410 TF ITH=1 THEN 2810 ELSE IF ITH=2 THEN 4900

4420 REM ------- Case in a Wid Plastic Load —-
4430 EQ=E:EQI=INT(.54E):FBQ=FB:FBQI=INT(.5+FB*10)/10:NLA=NL

4440 JQCI=INT(. 5+ (JJQ(1%1076))/1076:JATI=INT(.5+(JJQ(2%N)*1076))/1076

4450 PRINT”MID PLASTIC BENDING ™

4460 PRINT ” APPARENT M.0.Y: EQ=";EQI;”[kgf/cm2]”,”COMP,SIDE STRAIN:JQC=":JOCI
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4470 PRINT “APP.BEND.STRESS FBQ=";FBQI;”[kgf/cm2]”,”TENS.SIDE STRAIN:JQT=";JQTI

4480 PRINT ” NEUT.LINE: NL(c-n)=":NL

4490 IF PY<>1 THEN GOTO 4530 ELSE IF PRT$="1" THEN LPRINT: LPRINT™#kMID PLAS.*MOMENT RATIO OF
EACH LAMINA: LMCI)”

4500 FOR I=1 TO N

4510 PRINT " LMQC";I;™)="3;1M(I) :IF PRT$="1" THEN LPRINT ” LMQ(”;L;”)=";LM(I)

4520 NEXT I

4530 IF STP$="1" THEN COLOR 5: PRINT:INPUT"STRIKE <RET> TO NEXT STEP”,0:COLOR 7:CLS

4540 IF PZ<>1 THEN GOTO 4720

4550 PRINT “STRESS DISTRIBUTION”: IF PRT$="1" THEN LPRINT SPACE$(11);™s#t STRESS DISTRIBUTION:

UuL(I”
4560 FOR I=1 TO N
4570  P=2#I-1

4580  PRINT "UUL (*;P;™)=";INT(.5+1000%UUL(P))/1000;” JIQC";P3™)="; INT(.5+1E+06%JI(P))/1E+06;
* o JSTSQ(";P;”)="; INT(,5+JSTS(P))

4580  IF PRT$="1" THEN LPRINT "UUL (”;P;™)=";INT(.5+1000%UUL(P))/1000;”  JJQ(”;P;")=";INT(.5
+1E+06%JJ(P))/1E+06;”  JSTSQ(";P;7)="; INT(.5+JSTS(P))

4600  PRINT "ULBQ(”;P;”)="; INT(.5+1000%ULB(P))/1000; m ISTSBACT Py )=
”: JSTSB(P)

4610  BRK$="UNDO”

4620  IF PRT$="1” THEN IF ULB(P)=0 THEN LPRINT"ULBQ(”;P;”)=";BRKS;” "y
JSTSBQC”; P;*)=";BRK$ ELSE LPRINT™ULBQ(”;P;”)=";INT(.5+1000*ULB(P))/1008;" s
» JSTSBQ(™;P:™)="; INT(.5+JSTSB(P))

4630  P=P+l

4640  IF PRT$="1" THEN IF ULB(P)=0 THEN LPRINT”ULBQ(”;Pi”)=";BRK$;” "
JSTSBA(™;P;”)=";BRK$ ELSE LPRINI”ULBQ(";P;”)=";INT(.5+1000%ULB(P))/1000;" "
" JSTSBA(”;P;”)="; INT(.5+JSTSB(P))

4650  PRINT "ULBQ(”;P;™)="; INT(.5+1000%ULB(P))/1000; »7 JSTSBQ(”;P;™)=
"1 JSTSB(P)

4660  IF PRT$="1" THEN LPRINT”UUL (”;P;")=";INT(.5+1000%UUL(P))/1000;”  J1JQ(”;P;”)=";INT(.5+
1E+06%JJ(P))/1E+06;”  JSTSQ(”;P;”)=";INT(.5+JSTS(P))

4670 PRINT ™UUL (7:P;”)=";INT(.5+1000%UUL(P))/1000;” JIQ(":P;”)="; INT(.5+1E+06%JJ(P))/1E+06;
7 JSTSQ(”;P; ) =" INT(.5+JSTS(P))

4686  IF PRT$="1" THEN LPRINT STRING$(65,”-")

4690  PRINT STRING$(65,”-™)

4700 NEXT I

4710 IF STP$="1" THEN COLOR 5:PRINT:INPUT"STRIKE <RET> TO NEXT STEP”,A: COLOR 7:CLS

4720 FOR I=1 TO N

4730 LHQ(D)=LH(I)

4740 NEXT I

4750 FOR P=1 TO 2*N

4760 JJACP)=JI(P): UULA(P)=UUL(P): JSTSQ(P)=JSTS(P): ULBQ(P)=ULB(P): JSTSBA(P)=JSTSB(P)

4770 NEXT P

4780 MOY=INT(.5+EP/10)%10: PLES=INT(.5+FBP) :MOR=INT (. 5+FBR)

4799 NP= INT(~JJP(1)*1000/(JIP(2%N)-JIP(1)))/1000

4800 NR= INT(-JJR(1)*1000/(JIR(2HN)~JIR(1)))/1000

4810 REM 27277277 Calculation of Deflexion 27ZZZZZ2222211772122278112212221187

4820 DEF  FNC(Y)=Y+AAx3%((Y-1)"(BB+3)/(BB+3)+2%(Y~1)"(BB+2)/(BB+2)+(¥Y~1)"(BB+1}/(BB+1)) /Y 2
4830 AR=MMR/MMP : AQ=MMQ/MMP : BR=XXP/XXR : BQ=XXP/XXQ

4840 IF AR<=1 OR AQ<=1 OR BR<=1 OR BG<=1 THEN BB=1:AA=1:GOTO 4870
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4850 BB=LOG((BR-1)/(BQ~1))/LOG((AR-1)/(AQ-1)) : AA=(BR-1)/(AR-1)"BB
4860 REM === Loads (WP,WR,%Q) & Deflexion (DCP,DCR,DCQ)
4870 DCP=L"2%SSTP/(12%H) : DCR=DCP*FNC(AR) : DCQ=DCP#FNC(AQ)

4880 WP=4%BXH" 24MHP/L: WR=4#BAH" 2xHMR /L : WQ=4%BRH" 2kMHQ/L: WPT=INT(, 5+WP%10) /10 : WRI= INT (. 5+WR%10)
/10:¥QI=INT (. 5+WQ*10)/10

4890 DCPI=INT(.5+DCP*1000)/1000:DCRI=INT(.5+DCR*1000)/1000:DCAI=INT(.5+DCA%1000)/1000

4900 REM ======= Printout on Results of Load & Normal Stress ====zsz==z=zzmzmzozz

4810 IF ITM=2 THEN 4930

4920 CLS: PRINT: PRINT ” (4) == CALCULATED RESULTS ON LOAD & NORMAL STRESS ==": PRINT:IF PRT$=

“1” THEN LPRINT:LPRINT "=s===szz=zz=z== CALCULATED RESULTS ON LOAD & NORMAL STRESS =zzmzzmzszs
===":LPRINT:GOTO 4940 ELSE 4940

4930 CLS: PRINT: PRINT "s=s==s=zmz=z==== CALCULATED RESULTS ON NORMAL STRESS ss==sssessszzassss
=": PRINT: IF PRT$="1" THEN LPRINT: LPRINT "s===zmscoazmes=s==== CALCULATED RESULTS ON NORMAL
STRESS S ”:LPRINT

4940 PRINT "M.0.Y.=";EPI;”[kef/cu2] M.0.R.=";FBRI;”[kgf/cm2] M.P.L.=";FBPI;” [kef/cn2]”:IF PRT$

="1” THEN LPRINT “M.0.Y.=";EPI;”[kgf/cm2] M.0.R.=";FBRI;”[kgf/cm2] M.P.L.=";FBPI;” [kef/cn2]”:

LPRINT

4950 PRINT "MAX.L: C.STRAIN:JRC=";JRCI;” T.STRAIN:JRT=";JRTI;” N.LINE:NLR(c-n)=";NLR:IF PRT$="
17 THEN LPRINT "MAX.L: C.STRAIN:JRC=";JRCI;” T.STRAIN:JRT=";JRTI;” N.LINE:NLR(c-n)=":NLR

4960 PRINT "P.L.L: C.STRAIN:JPC=";JPCI;” T.STRAIN:JPT=";JPTI;” N.LINE:NLP(c~-n)=";NLP: PRINT:IF
PRT$="1" THEN LPRINT”P.L.L: C.STRAIN:JPC=";JPCI;” T.STRAIN:JPT=";JPTI;” N.LINE:NLP(c-n)=";RNLP

4870 IF ITM=2 THEN COLOR 5:INPUT "STRIKE <RET> TO NEXT STEP”;0:COLOR 7:G0TO 5830 ELSE IF ITH=2
THEN 5830

4980 PRINT:PRINT "SPAN L=";L;”[cm]”,”HEIGHT H=";H;”[cm]”,”BREADTH B=";B:”[cm]”:PRINT: IF PRTS$

="1” THEN LPRINT:LPRINT "SPAN L=";L;”[cm]”,”HEIGHT H=";H;”[cm]™,”BREADTH B=";B;”[en]”

4980 PRINT “MAX. LOAD  Wr=";WRI;”[kef]”, "MAX. DEFLX. DCR=";DCRI;”[cm}”: IF PRT$="1”
THEN LPRINT “MAX. LOAD  Wr=";WRI;”[kegf]”,”MAX. DEFLX. DCR=";DCRI:”{cm]”

5000 PRINT”PP. LIMIT LOAD  Wp=";WPI;”[kgf]”, "PP.LIM. DEFLX. DCP=":DCPI :"[cm]”: IF PRT$="1"
THEN LPRINT”PP. LIMIT LOAD  Wp=";WPI;”[kef]”,”PP.LIM. DEFLX. DCP=";DCPI;”[cm]”

5010 PRINT”MID PLAST.LOAD  Wq=";WQI;”[kgf]”,”MID PLAS.DEFLX.DCO=";DCQI :”[cm]”: IF PRT$="1"
THEN LPRINT”MID PLAST.LOAD  Wg=";WQl.”[kgf]”,”MID PLAS.DEFLX.DCQ=";DCQl;”[cm]”

5020 PRINT” Wp/Wr=";INT(.5+100%WP/WR)/100;” WQ/WR="; INT(.5+100%¥Q/¥R)/100,” Dep/
DCR="; INT(.5+100%DCP/DCR}/100;” DCQ/DCR="; INT(.5+100%DCA/DCR)/ 100

5030 IF PRT$="1" THEN LPRINT” Wp/Wr=";INT(.5+100%WP/WR)/100;” WQ/WR="; INT(.5+100%WQ/WR)/100,”

BCP/DCR="3; INT(.5+100%DCP/DCR)/100;” DCQ/DCR="; INT(.5+100%DCQ/DCR)/100: LPRINT

5040 IF STP$="1" OR ITH=1 THEN COLOR 5:PRINT:INPUT”STRIKE <RET> TO NEXT STEP”,0:COLOR 7:CLS

5050 IF SHE$="Y" OR SHE$="y” THEN 5070 ELSE GOSUB *SUBR.7 : GOTO 6410

5060 REM 22272127777 Calculation of Shear Stress in Center-Looded Beam 272777177

5070 REM Shear -

5080 IF SHE$="Y” OR SHE$="y” THEN 5090 ELSE 6410

5080 SHA=L®B/2 :NH=NPxH :S8L=0:HL(8)=0

5100 FOR I=0 TO N

5110 SL=SL+HL(I) : NL(I)=SL-NH
5120 P=2%T  : NNL(P)=NL(I)

5130 P=2%I+1 @ NNL(P)=RL(D)
5140 NEXT I

5150 REM === Shear in Glue Layers

5160 LST(0)=0: SLST=0: SLST(0)=0: CG6=0: SCG=0 :61=0:G2=0:CG1=0
5170 FOR Q=1 TO 2%N STEP 2

5180 I=(Q+1)/2
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5180 IF JIPC Q)<0 AND JJP( Q+1)<0 THEN 5220
5200 IF JIPC @)<=0 AND JJP( Q+1)>=0 THEN 5248
5210 IF JJPC @)>0 AND JJP( Q+1)>0 THEN 5220

5220 REM ~m—mmmm Shear in Compression or Tension Side
5230 LST(I)=(EE(Q)*JJIP(Q)*NNL(Q)-EE(Q+1)*JJP(Q+1)*NNL(G+1))/2 : GOTO 5280
5240 REM ~-----~ Shear at Neutral Layer -- -

5250  LSTNU =EE(Q)*JJP(Q)*NNL(Q)/2

5260  LST(I)=-EE(Q+1)*JIP(Q+1)*NNL(Q+1)/2
5270  SLSTNU=SLST+LSTNU : SLST=SLSTNU
5280  SLST=SLST+LST(I) : SLST(I)=SLST
5290 NEXT Q

5300 REM ========= Results on Shearing
5310 FOR I=0 TO N

6320  TYT(I)=SLST(I)*(WR/WP)/L%2 : TYE(I)=SLST(I)*(WRE/WP)/Lx2
5330 NEXT I

5340 TYT(N)=0:TYE(N)=0

5350 TYTM=SLSTNU%(WR/WP)/L*2 :TYTHI=INT(.5+TYTH*10)/10

5360 TYEM=TYTH*(WRE/WR) (TYEMI=INTC. 5+TYEN%10)/10
5370 IF WL$<O™" THEN RETURN
5380 REM ===== Shear(i) M.0.R in Experimental Bending

5380 RFB=FBRE/FBR

5400 REM ---~( from KEENAN : Ss=112.7-34.2Log(As/9) fkg/cw™2] Ymmmmmmm——n
5410 FOR I=1 TO N

5420 SYY(I)= .00107%E(I)

5430 KST(I)=SVY(1)-34.2%LOG(SHA/9)*SVY(1)/112. 7/LOG(10)

5440 SVE(D)=TYE(I)/(1~34. 2%LOG(SHA/9)/112.7/L0G(10))

5450 NEXT I

5460 REM ===== Print & Printout on Shearing Results
5470 CLS:LOCATE 1,0:PRINT” (5) == SHEARING STRESS WHEN BEAM RUPTURED [UNIT:kgf/cm2] =="

5480 LOCATE 0,2:PRINT”LAYER”

5490 LOCATE 6,2:PRINT”0BS.SH.STS.”

5500 LOCATE 30,2:PRINT”CAL.SH.STS.”

5510 LOCATE 42,2:PRINT”J-SH.STG.”

5520 LOCATE 54,2:PRINT”K-SH.STG.”

5530 FOR I=0 TO N

5540 LOCATE 6, 3+I:PRINT UL(D) + LOCATE 6,3+1:PRINT TYE(D)

5550 LOCATE 30,3+1:PRINT TYT(I) : ' LOCATE 18,3+1:PRINT SVE(I)

5560 LOCATE 42,3+1:PRINT SYY(I) : LOCATE 54,3+1:PRINT KST(I)

5570 NEXT I

5580 LOCATE 0,4+1:PRINT"LAYER OF MAX.SH.STS.:RATIOCc-n)=";NLP ;”  MAX.SH.STS.=";TYTMI;”[kef/

cm2]”

5590 IF ITM=1 THEN COLOR 5:PRINT :INPUT”STRIKE <RET> TO NEXT STEP”,0:COLOR 7

5600 REM ======= Printout of Shearing Results ====

5610 IF PRT$<>”1” THEN 5830

5620 LPRINT:LPRINT”=== SHEARING STRESS AT EACH GLUED LAYER WHEN RUPTURED BY BENDING ==z==zzm==z"

5630 LPRINT” & KEENAN’S SHEARING STRENGTH OF EACH LAMINA”

5640 LPRINT”OBSERVED  MAX.LOAD:™;WREI ;”[kgf]”:LPRINT”CALCULATED MAX.LOAD:”;INT(.5+WR%10)/10;
” [kgf]”

5650 LPRINT : LPRINT”LAY.DIST. ™;” OBSERVED ”;” CALCULATED ;" *+”JI8 REGRES. ;

7 KEENAN’S CONV.”
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5660 LPRINT "RATE(c-n) ”;" SHEAR.STS. ;” SHEAR.STS. ”;” 9cm2-SH.STG. " ;SHA;” cm2~SH,
STG. ”
5670 LPRINT” " [kgf/cm2] 73" [kegf/cm2] ™37 [kgf/em2] 737 [kgi/co2]

5680 LPRINT STRING$(73,”-")

5680 FOR I=0 T0 N

5700  LPRINT USING "#.#% ”; UL(D);

5710  LPRINT USING "Rfsdsssss. 4 " TYECD);
5720  LPRINT USING “##f#s#sss.# ", TYT(D)
5730 I=I+1 : IF I=N+¢1 THEN 5780

5740  LPRINT USING” HARR R 7 8VY (D),
5750  LPRINT USING ” $H####888.4 ", KST(D)

5760  I=I-1

5770 NEXT I

5780 LPRINT STRINGS$(73,”-")

5790 LPRINT”MAX.SH.POS. ” "0BS.MAX.SH.STS. ”,”CAL.MAX.SH.STS.”

5800 LPRINT USING “####is. 88 " NP,

5810 LPRINT USING " 4 [kef/cn2)”; TYEHI,

5820 LPRINT USING ” $H848 # kgt /cm2]” s TYTHI,

5830 IF CHMP$<>"1” THEN 5920

5840 CLS: PRINT:PRINT” (6) == COMPARISION OF OBSERVED DATA WITH CALCULATED VALUES  UNIT:{[kef/
cm2] ==":IF PRT$="1" THEN LPRINT:LPRINT:LPRINT "=== COMPARISION OF OBSERVED DATA WITH CALCULAT
ED VALUES zzzommemmnenzcozsoox ?

5850 IF PRT$="1" THEN LPRINT ” [kgf/cmz]”,” [kegf/cm21”,” [ratio]”

5860 PRINT:PRINT “OBS.M.0.Y.=";EPEI,”CAL.M.0.Y.=";EPI ,”M.0.Y.(OB/CA)=";INT(.5+(EPE/EP)*100)/
100: IF PRT$="1" THEN LPRINT “O0BS.M.0.Y.=";EPEI,”CAL.M.0.Y.=";EP1,”M.0.Y.(OB/CA)="; INT(.5+(EPE

JEPY®*100)/100

5870 PRINT "0BS.M.0.R.=";FBREI,”CAL.M.0.R.=";FBRI,”M.0.R.
:IF PRT$="1" THEN LPRINT “OBS.M.0.R.=";FBREI,"CAL.M.0.R.
/FBRY%100)/100

5880 IF SHE$="" THEN 5800

5890 PRINT”OB.MAX.SH.STS.=";TYEMI,”CA.MAX. SH.STS.="; TYTHI ,”MX.SH. (OB/CA)="; INT(.5+(TYEM/TYTH)

%100)/100: IF PRT$="1" THEN LPRINT “OB.HAX.SH.STS.=";TYEMI,”CA.MAX.SH.STS.=":TYTHI,”MX. SH. (0B/
CAY=" INT(.5+(TYEH/TYTH)*100)/100

5900 PRINT: PRINT STRING$(74,”="): PRINT

5810 IF STP$="1" OR ITM=1 OR ITM=2 OR SHE$="Y” THEN COLOR 5:PRINT:INPUT”STRIKE <RET> TO NEXT
STEP”,0: COLOR 7:CLS

5920 IF PRT$="1" THEN LPRINT:LPRINT STRING$(?5,”="):LPRINT:LPRINT:LPRINT

5930 IF ITH=2 THEN 6510

5940 IF GRP$="1" THEN 6510 :REM --Skip Graphing and End Job ~--=-wmemana

5850 REM ZZZZZZZZ Arranging Variables of Shear Stress ZZ712ZZL27Z771722121%72177

5960 CLS: LOCATE 10,10:COLOR 4: PRINT "FIGURES OF STRESS-DISTRIBUTIONS AND THE LOAD™DEFLEXION
CURVE”

5870 LOCATE 25,12:COLOR 3:PRINT "WAIT A MOMENT PLEASE !”:COLOR 7

5880 FOR Q=1 TO 2%N STEP 2

5890  CG1=C0G1+CG: DSP=(UULCQ+1)~UUL(RQ) )*160: CG=INT (. 5+DSP) : SCG=8CG+CG: G1=CG1:G2=8CG: IF §2>100
THEN G2=100

6000 FOR G=G1 TO G2+1

6010 HIP(E)=(((UUL(Q+1)-UUL(B) )-. 01%(DSP/CGY*(G-G1)) /(UUL(Q+ 1)-UUL(R)) ) (JIP(Q)-JIP(Q+1))+

JIP(R+1)

(OB/CA)="; INT(. 5+(FBRE/FBR)*100)/100
="+ FBRI,”M.0.R. (0B/CA)="; INT(.5+(FBRE
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6020
6030
6040
6050
6060
6070
6080
6080
6100
6110
6120
6130
6140
5150
6160
6170
5180
6130
5200
6210
6220
6230
6240
6250
6260
6270
6280
6280
6300
6310
6320
6330
6340
6350
6360
6370
5380
6390
6400
5410
6420
6430
6440
6450
6460
6470
6480
6480
6500
6510

HNL(G)=NNL(Q)+H%(G6~G1)*, 01%(DSP/CG)
NEXT G
FOR G=G1 TO G2-1

HST(G)=( EECQ)*HJP (G )*HNL(G)~-EE(Q)*HIP (G+1)*HNL(G+1))/2

SHST=SHST+HST(G) : SHST(G)=SHST
IF WL$="" THEN WL=WR
HYT(G)=SHST (G)*(WL/WP)/L*2

DSR(G)=(HNL(G)~HNL(0))/H (REM --Distance Ratio from Comp,sid----

NEXT G
NEXT @

REM ZZZZ7LLZ Arranging Variables of LOAD™DEFLEXION Curves ZZZZ222212111%

RVL=1:INX=203 :WDH=48+8%8: INY=3
NGP=INT(,5+AR%100) : SP=5 : K=0

IF NGP>20 THEN TNG=INT(20):RP=1 ELSE TNG=NGP:RP=0

IF ED$="Y” OR ED$="Y” GOTG 6170
FOR G=1 TO TNG STEP SP
IF Af=1 AND BB=1 THEN Y=1:X=DCP:GOTC 6210
Y=((AR-1)/ CARR100-1))%(G+K~1)+1
X=FNCCY)*DCP
D(G, 2)=Y*HP : D(G,1)=X : RD(G)=2
NEAT G
REM === Check ===
IF (K+G)>=NGP THEN 6250 ELSE 6290
FOR G=1 TO TNG STEP SP
D$=STR$(P(G,1)) : LG=LEN(DS$)
D$=STR$(D(G,2)) : LG=LEN(D$)
NEXT G
FOR G=1 TO TNG STEP SP :FOR NMX=1 TO 2
REG+HK)=2 & DT(GHK, NMX)=D (G, NHMX)
NEXT NMX:NEXT G
K=TNG+K
IF RP=0 THEN GOTO 6360

IF RVL*(NGP-K)>20 THEN TNG=INT(20/RVL):RP=1 BLSE TNG=NGP-K:RP=0

GOTO 6170

FOR G=1 TO NGP
DTT(G,1)=DT(G, 1)
DTT(G,2)=DT(G, 2)

NEXT &

REM 222727727 Selection of Graphing Items Z2ZZZZ7Z7ZZ7Z777112Z1%2L1122LL0227

CLS 3: PRINT:PRINT:PRINT:COLOR 6

PRINT”[5] SELECT GRAPHING JOB FROM THIS <<MENU>>”:COLOR 4

PRINT:PRINT” (1) NORMAL STRESS DISTRIBUTION "
PRINT:PRINT” (2) SHEARING STRESS DISTRIBUTION”
PRINT:PRINT™ (3) LOAD™DEFLEXION CURVE”
PRINT:PRINT” (4) GRAPHING JOB END”:PRINT

LOCATE 0,14 :COLOR 6:INPUT”YOUR SELECTION ? (174)”;GRA

IF GRA<I OR GRA>4 THEN 6470

IF GRA=4 THEN CLS 3:PRINT: PRINT:PRINT:GOTO 6510

ON GRA GOSUB *SUBR.7,%SUBR.8,*SUBR.8:GOTO 6410
CLS 3:COLOR 6:LOCATE 5,12:INPUT “[6] JOB END

?

YES<1>,

NO<RET> ”, JON$



6520 IF JON$="1" THEN 6530 ELSE CLS 3:G0T0 1620

6530 REM -~—---- Job End ~~---

6540 CONSOLE,,1,0:CLS 3:LOCATE 30,12:PRINT”J 0 B E N D”:LOCATE 27, 14:PRINT”( RESTART BY <f:5
>=<RUN> )”

6550 END

6560 REM Z7ZZZZZ121Z211 SUBROUTINE Programmes ZZZZZZ2Z2L221212172220702220002000101

6570 REM =====<<<< SUBROUTINE 1 >>>> (Data-Input) =z

6580 #*SUBR. 1

6530 RESTORE

6600 FOR QQ@=1 TO DTN

6610  READ ZNA$(QQ),ERE(QQ),FFCC(QQ),FFITA®)

6620 NEXT QQ

6630 RETURN

6640 REM =====<<<< SUBROUTINE 2 >>>>(Lamina’s Strength got from Young’s Hod.)==
6650 #*SUBR. 2

6660 LOCATE 0,20 :COLOR 6:INPUT ”INPUT QUALITY OF LAMINA (Standard Qu.,hit [RETURN] ;Low Qu.,
hit<L>&[RETURN]”;QUS$

6670 COLOR 3:LOCATE 10,21:INPUT “DECREASE-RATE OF TENSILE STRENGTH [%]<=90 ”;TSQCMM):COLOR 6:
IF T8Q(MM) >80 THEN 6670

6680 IF QU$="L" OR QU$="1" THEN QUS(MM)="LOW":GOTO 6700 ELSE QU$(MM)="STD”
6680 FCQMM)=, 00312%E(MMI+114: FT(MM)=(. 0095%E(MM)+69)%(1-TSQ(MM)/100):GOTG 6710
6700 FCCHM)=.00325%E(HM) « FPOMM)=. 007 TECHM )% (1-TSQ(HH)/100)

6710 LOCATE 5, 54P : PRINT QU$(MM) :LOCATE 15, 5+P : PRINT TSQ(HM)

6720 LOCATE 38, 5+4P ¢ PRINT FC(HMM)

6730 LOCATE 50, 5+P :PRINT FT(MM)  :LOCATE 0,21:PRINT SPACES$(80)

6740 RETURN

6750 REM =====<<<< SUBROUTINE 3 »>>>> (Confirm and Correct of Input Data)zs==z==z
6760 *SUBR .3

6770 CLS 3:COLOR 6:LOCATE 0,0:PRINT "=== CONFIRMATION ===

6780 IF DAA=1 THEN LOCATE 21,0:PRINT”DATA:”:LOCATE 26,0:FOR Q=1 TO DTN:PRINT ”(”;QQ;")";ZNA$(
QG4),:NEXT QQ

6790 COLOR 4:LOCATE 1,2:PRINT "NAME: ™;NSP$

6800 LOCATE 15,2:PRINT “PLIES OF LAMINA: ;N

6810 LOCATE 17,3:PRINT"LAMINA”

6820 LOCATE 28, 3:PRINT "E”

6830 LOCATE 40,3:PRINT "F¢”

6840 LOCATE 52,3:PRINT "Ft”

6850 LOCATE 64,3:PRINT "HL”

6860 LOCATE 0,4:PRINT "NO. KIND DECR.ofT.STG.%”

6870 LOCATE 27,4:PRINT ”YOUNG.MOD.”

6880 LOCATE 39,4:PRINT “COMP,STG.”

6890 LOCATE 51,4:PRINT “TENS.STG.”

6900 LOCATE 63,4:PRINT “LAM.THICK.”

6910 FOR QQ=1 TO PE

6920  LOCATE 0,5+QQ:PRINT 7Q

65930 IF DAA=3 THEN 6960 ELSE IF DAA=2 THEN 6980

6940 LOCATE 5,5+Q0:PRINT NAM$(ZQ)

6950 LOCATE 15,5+QQ:PRINT TSQ(ZQ) :GOTO 6980

6960 LOCATE 4,5+QQ:PRINT QU$(ZQ)

6970  LOCATE 15,5+0Q:PRINT TSQ(ZQ)
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6980
6990
7000
7010
7020
7030
7040
7050
7060

LOCATE 26,5+QQ:PRINT ECZQ)

LOCATE 38,5+Q0: PRINT FC(ZQ)
LOCATE 50,5+QQ: PRINT FT(2Q)
LOCATE 82, 5+QQ:PRINT HL(ZQ)

70=70+1
NEXT QQ:COLOR 6
REH ----mm- Confirmation --------

LOCATE 0,20:COLOR 3:PRINT "ARE YOU OK ? IF OK THEN STRIKE <RET>. ”
LOCATE ©,21:INPUT "IF YOU FIND MISTAKES THEN INPUT MISTAKE NUMBER ”;VV:COLOR 7:VC=VV MOD

GM:IF VC=0 THEN P=GM ELSE P=VC

7070 IF VVON THEN 7060

7080 LOCATE 0,20:PRINT SPACE$(250)

7080 IF VYV=0 THEN GOTO 7410 ELSE GOTO 7110

7100 REM ===== Correction of Mis-input Data == ==

7110 LL=P:COLOR 3:IF DAA=1 THEN 7170 ELSE IF DAA=2 THEN 7120 ELSE IF DAA=3 THEN 7270 ELSE 7340
7120 LOCATE 0, S5+LL:PRINT SPACE$(80):LOCATE 0, S+LL:PRINT VV

7130 LOCATE 25, 5+LL:INPUT ECVV) :IF E(YV)=0 THEN 7130

7140 LOCATE 37, 5+LL:INPUT FC(VV):IF FC(VV)=0 THEN 7140

7150 LOCATE 48, 5+LL:INPUT FT(VY):IF FT(VV)=0 THEN 7150

7160 LOCATE 61, 5+LL:INPUT HLCVY):IF HL(VV)=0 THEN 7160 ELSE COLOR 6:GOTC 7040

7170 LOCATE 0, 5+LL:PRINT VV

7180 LOCATE 4, 5+LL:PRINT SPACE$(70):LOCATE 4,5+LL:INPUT "DATA No.="; NOD:IF NOD>DTN OR NOD=0
THEN 7180

7180 LOCATE 18,5+LL:INPUT”DECR.ofT.STG.(%)”;TSQ(VV): LOCATE 4, 5+LL:PRINT SPACE$(70)
7200 NAMS(VV)=ZNAS(NOD): ECVY)=ERECNOD) :FC(VV)=FFCCNOD): FT(YV)=FFIT(NOD)*(1-TSQ(VYY)/100)
7210 LOCATE 5, 5+LL:PRINT NAMS(VV)

7220 LOCATE 15, 5+LL:PRINT TSQ(VV)

7230 LOCATE 26, S+LL:PRINT E(VV)

7240 LOCATE 38, 5+LL:PRINT FC(VV)

7250 LOCATE 50, 5+LL:PRINT FT(VV)

7260 LOCATE 61, 5+LL:INPUT HL(VV):IF HL(VV)=0 THEN 7260 ELSE COLOR 6:GOTO 7040

7270 LOCATE 0, 5+LL:PRINT SPACE$(70)

7280 LOCATE 0, 5+LL:PRINT VV

7280 LOCATE 25, S+LL:INPUT E(VV):IF E(VV)=0 THEN 7290

73060 MH=VV

7310 GOSUB *SUBR. 2 :LOCATE 0,20:PRINT SPACE$(80)

7320 LOCATE 61, 5+LL: INPUT HL(VV):IF HL(VV)=0 THEN 7320

7330 ¥V¥=0:COLOR 6: GOTO 7040

7340 LOCATE 0,5+LL:PRINT SPACE$(80):LOCATE 0,5+LL:PRINT vy

7350 LOCATE 25,5+LL:INBUT E(VY):IF E(VY)=0 THEN 7350

7360 LOCATE 37,5+LL:INPUT FC(VV):1F FC(VV)=0 THEN 7360

7370 LOCATE 49,5+LL:INPUT "M.0.R., ":;FB(VV):IF FB(VV)=0 THEN 7370

7380 MM=VV:GOSUB *SUBR.4:LOCATE 49,5+LL:PRINT SPACE$(20):LOCATE 48,5+LL:PRINT FT(VV)

7390 LOCATE 61,5+LL: INPUT HL(VV):IF HL(VV)=0 THEN 7390

7400 Y¥=0 :COLOR 6:G0T0 7040

7410 REM ------- When mis-input is not found -

7420 CLS 3:COLOR 4:LOCATE 1,2:PRINT”NAME: “;NSP$:LOCATE 15,2:PRINT “PLIES OF LAMINA";N

7430 LOCATE 6,3:PRINT”LAMINA”

7440 LOCATE 27,3:PRINT "E”

7450 LOCATE 39,3:PRINT "F¢”
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7460 LOCATE 51,3:PRINT "Ft”

7470 LOCATE 63,3:PRINT "HL”

7480 IF PRT$<>"1” THEN 7560

7490  LPRINT:LPRINT:LPRINT "NAME OF SPECIMEN : ”;NSP$:LPRINT
7500  LPRINT "PLIES OF LAMINAE N=";N :LPRINT

7510 ON DAA GOTO 7520,7530,7540

7520  LPRINT ” LAMINA 737 ”;"Eb " "Fe 77Tt
7550

7530 LPRINT ” LAHINA =3 7 "Eb ";"Fe B
7550

7540  LPRINT ” LAMINA  ”;”QUALITY *;”Eb " "Fe 73 "Ft

73 VHL” :6OTO
3 ”HL” :60TO

3 : nHLn

7550  LPRINT”NG. KIND DECR.T.S.YOUNG.MOD. ";”COMP.STG.  “;"TENS.STG.  ”;”LAM.THICK.”:LPRINT

[%] [kst/em2] [kgf/cm2]  [kgf/cn2] fem]”
7560 LOCATE 0,4:PRINT”NO. KIND DECR.ofT.STG.%"
7570 LOCATE 27,4:PRINT "YOUNG.MOD.”
7580 LOCATE 39,4:PRINT ”COMP.STG.”
7590 LOCATE 51,4:PRINT “TENS.STG.”
7660 LOCATE 63,4:PRINT "LAM.THICK.”
7610 FOR PP=1 TQ PE
7620  LOCATE 0,5+PP:PRINT ZP
7630 IF DAA=3 THEN 7660 ELSE IF DAA=2 THEN 7680
7640  LOCATE 4,5+PP:PRINT NAMS(ZP)
76850  LOCATE 15,5+PP:PRINT TSQ(ZP):GDTO 7680
7660  LOCATE 5,5+PP:PRINT QU$(ZP)
7670  LOCATE 15, 5+PP:PRINT TSQ(ZP)
7680  LOCATE 26, 5+PP:PRINT E(ZP)
7680  LOCATE 38,5+PP:PRINT FC(ZP)
7706 LOCATE 50,5+PP:PRINT FI(ZP)
7710 LOCATE 62, 5+PP:PRINT HL(ZP)
7720  IF PRT$<>”1” THEN 7810
7736 LPRINT USING “### 7;ZP;
7740 LPRINT USING "& & ;NAMS(ZP);
7750 LPRINT USING "& &” ;QU$(ZP);
7760 LERINT USING "#i¥” ;TSQ(ZP);
7770 LPRINT USING ™ ###fis# " E(IP);
7780 LPRINT USING ™ ##48.% ?FC(IPY;
7780 LPRINT USING 7 #i##.4 " FT(ZP);
7800 LPRINT USING ” . 844 S HL(ZP)
7810  HL=HL+HL(ZP):ZP=ZP+1
7820 NEXT PP
7830 RETURN
7840 REM =====<(<<<SUBROUTINE 4 >>>>( Fc from Fc , Fb(M.0.R.) of Lamina)======
7850 *SUBR .4

7860 IF FB(MM)<=FC(MM) THEN FT(MM)=FB(MM):GOTO 7870 ELSE FT(MMI=FPCCHM)%(FB(MMY+FCCHM))/ (3

FCOMM)~FBGHMD)
7870 RETURN

External Tensile Stress when SA comes nearly fo zero in a Beam)==

7890 *SUBR.5
7900 LPG=0:IF ITM=1 THEN 7910 ELSE JXM=ABS(JK)*10/5: GOTO 7950



7910 ON DV GOTO 7920,7930,7940

7920 JXM=ABS(4%10/5%LLT(2%N)):GOTO 7950

7930 JXM=ABS(1%x10/5%LLC(1)) :GOTO 7850

7840 JXM=ABS(4%10/5%JK) :GOTO 7950

7950 EPS=ABS(JK)}/10 : SM=0:JX1=0:JX2=0

7960 IF JK<O THEN 7970 ELSE JX=-JXM:ULX=UL(0): GOTO 7980
7970 JX=JXM : ULX=UL(N)

7980 8=3

7990 S=8-1 : 8A=0

8000 IF S>0 THEN 8040

8010 IF INT(.5+100%SA1)=INT(.5+100%SA2) THEN 8040
8020 JX=JX2+5A2%(JX1-JX2)/(SA2~SA1)

8030 IF JX/JX1=>0 THEN 8050 ELSE JX=-JX:GOTO 8050
8040 JX=.5%JX

8050 FOR I=0 TQ N

8060  U=(ULLI)-ULX)/CULK-ULX) ¢ J(I)=JX-Ux(JX-JK)
8070  P=2%I  : JJ(P)=J(I)%(1-.00801)

8080  P=2%I+1 : JJ(P)=J(I)*(1-.00001)

8080 NEXT I

8100 FOR P=1 TO 2%N

8110 JC(P)=JI(P) : IF JC(P)<O THEN 8150

8120 IF JC(P)>LLT(P) THEN 8130 ELSE 8140

8130  JC(P)=LLT(P)

8140 A(P)=(JC(P)"2)*EE(P)/2 : GOTO 8160

8150  IF ABS(JC(P))<ABS(LLC(P)) THEN 8140 ELSE A(P)=(JC(P)-LLC(P)/2)%*CC(P)
8160 Q=P MOD 2 : IF Q<>0 THEN A(P)=-A(P)

8170  SA=SA+A(P)

8180 NEXT P

8180 PRINT 8A

8200 IF ABS(SA)<=EPS THEN 8220

8210 SA1=SA2:JX1=JX2: SA2=SA:JX2=JX: GOTO 7890

8220 PRINT "SAEND=";SA:PRINT

8230 FOR P=1 TO 2%N

8240 IF JC(P)<D THEN 8260

8250  JM(P)=(JC(P)"3)SEE(P)/3 : GOTO 8280

8260  IF JC(P)>LLC(P) THEN 8250

8270 JH(P)=((IC(P)"2)/2-(LLC(P) " 2)/6)%CC(P)

8280  Q=ABS(P) MOD 2

8290  IF Q<>0 THEN JH(P)=-JH(P)

8300  SM=SM+JM(P)

8310 NEXT P

8320 SST=JJ(25N)~JJ(1) : MM=SH/(SST"2) : XX=SM/(SST°3)
8330 RETURN

8340 REM ====2{<<< SUBROUTINE 6 >>> ( Reservation of Pre-gained Data )=======
8350 *SUBR. 6

8360 FOR P=1 TO 2%N

8370 JHL(P)=JM(P) : JII(P)=JI(P) : JCI(P)=JC(P)
8380 NEXT P

8390 SM1=8M:MMI=MH:XX1=XX:JK1=JK:SST1=88T: K1=K:KJJ1=KJJ
8400 RETURN

—_00



8410 REM =====<<<< SUBROUTINE 7 >>>>( Graphing of Stress Distribution )==z====

8420 #SUBR.7

8430 WIDTH 80,25: CONSOLE 0,25,0,1:SCREEN 0,0,1:COLOR 7:CLS

8440 NAM$="TEST NAME”:XID$="NORMAL STRESS [kgf/cm2]”:YID$="THICK.[ratio]”

8450 ON GRA GDTO 8460,8530,8600

8460 REM —=wmwmm Rupture in Bending -

8470 NL=NLR

8480 FOR G=1 TO 2%N

8480  DB(G, 1)=INT(.5+JSTSR(G)) :REM --Stress at each Glue Layer and Surfac—-

8500  D(G, 2)=UULR(G) :REM --Ratio of Glue-layer-distance from C.Side-—

8510  BR(G,1)=INT(.5+JSTSBR(G)):BR(G, 2)=ULBR(G)

8520 NEXT G : GOTO 8680

8530 REM ~—wmmmme Prop. Limit in Bending ~--~=~-=~- ——

8540 NL=NLP

8550 FOR G=1 TO 2%N

8560 DG, D=INT(.5+JSTSP(G))

8570  D(G, 2)=UULP(®)

8580  BR(G,1)=INT(.5+JSTSBP(G)) : BR(G,2)=ULBP(G)

8590 NEXT G : GOTO 8680

8600 REM ~------ A Plastic Condition in Bending ====-=cmemmm oo

8610 NL=NLQ

8620 FOR G=1 TO 2%N

8630  D(G, )=INT(.5+J5TSQ(G))

8640  D(G, 2)=UULA(G)

8650  BR(G,1)=INT(.5+JSTSBQCG)) : BR(G,2)=ULBQ(G)

8660 NEXT G : GDTO 8680

8670 XMIN2=0:XMAX2=0

8680 FOR G=1 TG 2%N

B690  XMINI=D(G, 1):IF XMINZ>D(G,1) THEN XMIN2=D(G,1)

8700 NEXT G

B710 XMINLEF=VAL(LEFT$(STR$(XMINZ),2)) : XMINLEN=LEN(STR$(XMIN2))

8720 XMIN=(XMINLEF-6)%10"(XMINLEN-2) :MNI=XMIN/10

8730 FOR G=1 TO 2%N

8740  XMAX1=D(G, 1):1F XMAX2<D(G,1) THEN XMAX2=D(G,1)

8750 NEXT G

8760 XMAXLEF=YAL(LEFT$(STR$(XMAX2),2)) : XMAXLEN=LEN(STR$(XHAX2))

8770 IF XMAXLEN>=5 THEN NLEN=.5 ELSE NLEN=1

8780 XMAX=(XMAXLEF+NLEN)*10" (XMAXLEN-2):MXI=XMAX/10

8780 YMIN=0:YMAX=1

8800 REM ~=—mmmemmem Graph Frame Setting --——-——-==w=w- -

8810 X1=XMIN:X2=XMAX:Y1=0:Y2=2

8820 SCR$="C" :"COLOR 4:LOCATE 5, 19:INPUT”HONOCHROME (M), COLOR (C)”;SCR$

8830 IF SCR$="C” OR SCR$="c" THEN SCREEN 3,0:YHX=322 ELSE IF SCR$="M" OR SCR$="m” THEN SCREEN
2,0:YMX=322 ELSE BEEP:GOTOD 8820

8840 WINDOW(XMIN, YHIN)-(XMAX,YHAX+.08) REM --(+.05)is Space for X-Scale--

8850 CLS:VIEW(158,40)-(638,YHX),,7

8860 FOR X=XMIN TO XMAX STEP 100

8870 IF X MOD 500=0 THEN LINECX, YMAX+.05)-(X, (YMAX+, 05~3%(YHAX-YHIN)/100)),7 ELSE LINE(X,

YHAX+.05)-(X, (YMAX+. 05~(YMAX-YHIN)/100)), T: LINECO, YHAX)-(0, YHIN)

8880 NEXT X




8890 FOR Y=0 T0 1 STEP .1
8900 IF Y=.5 THEN LINECXMIN,Y)=-((XMIN+35CXMAX-XHINY/100),Y) ELSE LINECXMIN,Y)- (CXMIN+(XHAX-
XMIN)/100),Y)
8910 NEXT Y
8920 REM --=-----~-- Normal Stress Distribution o
8930 FOR G=1 TO 2%N
8940  LINECXMIN,D(G,2))~-(XMAX,D(G,2))
8950 NEXT G
8960 LINECXMIN+#165,NL)-(XMAX-200,NL),7,, &HF9SF
8970 FOR G=1 TO 2%N STEP 2
8980  DU1=D(G, 1) :DU2=D(6G, 2):DL1= D(G+1,1):DL2=D(G+1,2):BU1=BR(G, 1):BU2=BR(E,2):BL1=BR(G+1,1):
BL2=BR(G+1,2)
8990  IF BL1>0 THEN LINE(D,BL2)-(BL1,BL2):DL1=BL1:DL2=BL2:
REM --Tensile Break at a Inside Lamina-------
9000  IF BU1<>0 THEN LINE(DUL,DU2)-(BUL,BU2):GOTD 9020 ELSE 9010
9010 IF BL1<>0 THEN LINE(DU1,DU2)-(BL1,BL2):GOTO 9030 ELSE 8040
9020  LINE(BU1,BU2)~(BL1,DL2):GOT0 9050
8030  LINE(BL1,BL2)~(DL1,DL2):G0TO 9850
9040  LINE(DU1,BU2)-(DL1,DL2)
9050  IF DUICO THEN XCP1=-ABSCDU1)/10:YCP1=DUZ+.005 ELSE XCP1=ABS(DU1)/10:YCP1=DUZ+.005
9066  IF DL1<0 THEN XCP2=-ABS(DL1)/10:YCP2=DL2-.005 ELSE XCP2=ABS(DL1)/10:YCP2=DL2~.005
9070 IF DU1>=1 OR DU1<=-1 THEN PAINT (XCP1,YCP1),3,7
9080 IF DL1>=1 OR DL1<=-1 THEN PAINT (XCP2,YCP2),3,7
9080 NEXT &
9100 LOCATE 16, 2:PRINT YMIN:LOCATE 16,19:PRINT YMAX
9110 XNT=(638-158)%(-XMIN)/(XMAX-XMIN)/8  :REM --Zero Position of Strength--
0120 LOCATE 17,21:PRINT XMIN: LOCATE 73,21:PRINT “+”;XHAX:  LOCATE(18+XNT),21:PRINT 0
9130 LOCATE 40,22:PRINT XID$
9140 LOCATE 17, 0:PRINT YID$:COLOR 6:LOCATE 53, 0:PRINT;NAM$;” ( ”;NSP§;” )”
9150 LOCATE 35, 1:PRINT “COMP.SIDE”:LOCATE (XNT+5),21:PRINT “TENS.SIDE”:COLOR 4
9160 LOCATE 25, INT(20%NL):PRINT "N (=";NL;”)”:LOCATE 74, INT(20%NL):PRINT "N”
0170 LOCATE 53,1:IF LDL=1 THEN PRINT”[PROP.LIM.LOADING]” ELSE IF LDL=2 THEN PRINT”[MID PLASTIC
LOADING]” ELSE PRINT”[MAXIMUM LOADING]”
9180 LOCATE 46, 3:PRINT”APPARENT SKIN FIB.STS.”:LOCATE 68, 3:IF LDL= 1 THEN PRINT *(H. P.L. )="
ELSE IF LBL=2 THEN PRINT” =" ELSE PRINT”(M.0.R.)="
9190 LOCATE 60, 4:IF LDL=1 THEN PRINT;FBPI;”[kef/cm2]” ELSE IF LDL=2 THEN PRINT;FBQI;”[kgf/cm2
1” ELSE PRINT:FBRI;”[kgf/cm2]”
9200  GOSUB %SUBR.11 : GOSUB *SUBR.10
9210 LOCATE 0,22, 1:PRINT”CHOICE YOUR JOB NUMBER !”
9220 INPUT”(1) OTHER GRAPHS  (2) UNUSED (3)or<RET> OTHER LOAD LEVEL ? ”,RE:ON RE GOTO 9250,8
820,9230
9230 LOCATE 0,22, 1:COLOR 7:PRINT "LOADING LEVEL ? ”
9240 INPUT "(1)Prop.Limit (2)Mid Plastic Load (3)Max.Load (4)Next Step<RET> ? ”,LDL
:COLOR B:REP=1:GOSUB 9250:SE$="Y”: ON LDL GOTO 8530,8600,8460,6410:60T0 8410
9250 VIEW(0,0)-(839,YMX),0 :CLS: WINDOW(O,0)-(639,199): VIEW(0,0)-(639,198),0,0 :SCREEN 0,0:1F

REP=1 THEN RETURN ELSE LOCATE 0,20:PRINT” JOB END”
3260 RETURN
9270 REM =====<<<< SUBROUTINE 8 >>>> ( Load Deflexion Curve )z=zzmzzsz==zzsszz

8280 *SUBR.8
4230 WIDTH 80,25: CONSOLE 0,25,0,1:SCREEN 0,0:COLOR 7:CLS



9300 NAM$="TEST NAME”:XID$="Deflexion at center of beam [cm]”:YID$="Load [kgf]”:XDA$="X-DATA"
1 YDA$="Y-DATA”

8310 XDA$="X-DATA” :YDA$="Y-DATA”

9320 REM =wrmmmm Graph Frame Setting e

8330 LOCATE 0,15: PRINT SPACE$(79): LOCATE 0,10:COLOR 5: INPUT”IF YOU WANT TO SET MIN- & MAX-
VALUES OF FRAMES YOURSELF, THEN INPUT <Y»>

ELSE STRIKE <RET> ”,SE$

8340 CLS:XMIN=0

8350 DCRLEF=VAL(LEFT$(STR$(CINT(.5+DCR)),2)): DCRLEN=LENCSTRSCINT(.5+DCR))): XMAX=(DCRLEF+1)%
10" (BCRLEN-2):IF DCRLEF<5 THEN XI=10"(DCRLEN-3) ELSE XI=10"(DCRLEN-2)

9360 YMIN=0: WRLEF=VAL(LEFT$(STR$(INT(.5+ WR)),2)) :WRLEN=LEN(STR$ (INT(.54WR))) : YHAX=(WRLEF+1)*
107 (WRLEN~2):IF WRLEF<5 THEN YI=10"(WRLEN-3) ELSE YI=10"(WRLEN-2)

8370 IF SE$="Y” OR SE$="y” THEN 9380 ELSE 9480

9380 SCREEN 0,0:CLS:LINE(140,0)-(5620,160),4,B

9380 COLOR 4: LOCATE 0, 2:PRINT”YMAX>";WRI;” [kef/cm2]”: LOCATE 0,18:PRINT”XMAX>" ;DCRI; " [cm]”:
COLOR 7

9400 LOCATE 17,20: PRINT SPACE$(20): LOCATE 17,20: INPUT”X  MINIMUM ”;XMI$: IF VAL(XMI$)>=0
AND VAL(XMI$)<DCRI THEN XMIN=VAL(XMI$) ELSE 8400

9410 LOCATE 60,20: PRINT SPACE$(20): LOCATE 60,20: INPUT”X  MAXIMUM “;XMAS: IT VAL(XMA$)>=

DCRI THEN XMAX=VAL(XMA$) ELSE 9410

9420 LOCATE 30,18:  PRINT SPACE$(20): LOCATE 30,18: INPUT”INTERVAL OF X ”;%I¢: IF VAL(XI$)>0
AND VAL({XI$)<VAL(XMA$) THEN XI=VAL(XI$) ELSE 9420

9430 COLOR 6:LOCATE 16,18:PRINT SPACE$(20):LOCATE 16,19:INPUT”Y  MINIMUM ”;YMI$: IF VAL(YNI$)
>=( AND VAL(YMI$)<WRI THEN YMIN=VAL(YMI$) ELSE 9430

8440 LOCATE 18,0:  PRINT SPACE$(20): LOCATE 16,0:INPUTY  MAXIMUM ":;YMAS$: IF VAL(YMAS$)>=WRI
THEN YHAX=VAL(YMA$) ELSE 0440

9450 LOCATE 20,10:PRINT SPACE$(25): LOCATE 20,10: INPUT”INTERVAL OF Y ”;YI$: IF VAL(YI$)>0 AND
VAL(YI$)<VAL(YHAS$) THEN YI=VAL(YI$) ELSE 9450

8460 IF JB=3 THEN YMIN=YMIN#100:YMAX=YMAX%100:YI=YI*100

9470 COLOR 3:LOCATE 20,15:PRINT”IF ERROR STRIKE <E> ELSE ANY KEY”;: A$=INPUT$(1): IF A$="E" OR
A$="¢” THEN COLOR 6:GOTO 8400 ELSE COLOR 4:G0TC 9480

8480 X1=XMIN:X2=XMAX

9490 Y1=YMIN:Y2=YHAX

8500 CLS 3

8510 SCR$="C"

9520 IF SCR$="C" OR SCR$="c” THEN SCREEN 3,0: YMX=322 ELSE IF SCR$="M" OR SCR$="m” THEN SCREEN
2,0:YMX=322 ELSE BEEP:GOTD 8510

8530 WINDOW(KMIN, -YHAX)-(XMAX,-YHIN)

9540 CLS:VIEW(158,1)-(638,YHX),,7

9550 FOR X=XMIN TO XMAX STEP XI

9560  IF DCRLEF<5 THEN XNN=3 ELSE XNN=2

9570 IF X/XI MOD 5%107(DCRLEN-XNN)/XI=0 THEN LINECX,~YMIN)=(X,~(YHIN+3%(YMAR-YHIN)/100)),7
ELSE LINE(X,-YMIN)-(X,~-(YMIN+CYMAX-YMIND/100)),7

8580 NEXT X:GOTO 8640

89590 X3=X1

4600 FOR X=X3 TO X2 STEP X3

8610 IF X>X3%9.9 THEN X3=X:G0T0 9800

9620  LINE(LOG(X)/2.30259,-YHIN)~(LOG(X)/2.30258,~(YMIN+(YMAX-YHIN)/100)),7

9630 NEXT X

9640 FOR Y=YMIN TO YMAX STEP YI




9650 IF WRLEF<5 THEN YNN=3 ELSE YNN=2

9660 IF Y/YI MOD (5/YI )*107( WRLEN-YNN)=0 THEN LINECXMIN,-Y)-(XMIN+3%x(XMAX-XMIN)/100,-Y),
7 ELSE LINECXHIN, -Y)-(XMIN+(XNAX-XMIN)/100,-Y),7

8670 NEXT Y:GOTD 9800

9680 Y3=Y1

9680 FOR Y=Y3 TO Y2 STEP Y3

9700 IF Y>Y3%Q.9 THEN Y3=Y:GOTC 9690

9710  LINE(XMIN, -LOGCY)/2.30259)~ (XMIN+ (XMAX-XMIN)/100,-L0G(Y)/2.30259),7
4720 NEXT Y:GOTO 9800

3730 FOR Y=-4 TO 4

9740  LINECXMIN, -¥)~(XMIN+(XMAX-XMIND/100,-Y),7

9750 NEXT Y

9760 FOR Y=10 TO 90 STEP 10

9770 LINECXMAX, -LOG(Y/(100-Y)) )~ (XMAX~(XMAX-XMIN)/100,~LOGCY/C100-Y))),7
9780 NEXT Y

8790 LINE(XMIN, 0)-(XMAX,0),7

89800 G=1

5810 LINEC 0, 0)-(DCP,-WP),5:CIRCLE(DCP,-WP), (XHAX-~XHIN)/125,6

8820 FOR G=1 TO NGP STEP SP

9830 IF G>1 GOTO 9840 ELSE 9830

9840 LINE (DTT1,~DTT2)-(DTT(G,1),-DIT(G,2)),6

9850 CIRCLE(DTT1,-DTT2), (XMAX-~XMIN)/325,0,,6.28:PAINT(DTT1,-DTT2),0

9860 CIRCLE(DTT(G,1),-DTT(G,2)), (XMAX-XMIN)/325,0,,6.28:PAINT(DTT(G,1),~DTT(G,2)),0
9870  CIRCLE(DTT1,-DTT2), (XMAX-XMIN)/300,6,,56.28

9880  CIRCLE(DTT(G,1),-DTT(G,2)), (XMAX~-XMIN)/300,6,,6.28:G0T0 9830

9890  DTT1=DTT(G,1):DTT2=DTT(G,2)

9900 NEXT G

8910 LINE(DTTL,-DTT2)-(DCR,-¥R),5: CIRCLE(DCR,~¥R), (XMAX-XHMIN)/325,0: CIRCLE(DCR,~WR), (XMAX~XMIN
)/300,6:CIRCLE(DCR,-%R), (XMAX-XMIN)/125,3

9920 COLOR 6:LOCATE 13,0:PRINT Y2:LOCATE 15,20:PRINT Y1

9930 LOCATE 19,21:PRINT X1:LOCATE 74,21:PRINT X2

9940 LOCATE 22,1:PRINT YID$:LOCATE 53, 15:PRINT;NAHS;” ( ";NSP$;” )”

9950 LOCATE 35,22:PRINT XID$ : COLOR 4

9960 GOSUB *8UBR.11 : GOSUB *SUBR.10

9970 LOCATE 0,22, 1:PRINT”WHAT JOB DO YOU CHDBICE ?”

4980 INPUT”(1) OTHER GRAPH<RET> (2) FRAME CHANGE (3) UNUSED ? ”,RE:VIEW(G,0)-(638,YMX),0,0:
CLS:REP=1:8E$="Y":0N RE GOTO 9980,9340,8510

9990 COLOR 7:LOCATE 0,20:PRINT”GRAPH MAKING END”

10000 RETURN

10010 REM =====<<<< SUB.PROGRAM 8§ >>>> ( Shear-stress Distribution )=========
10020 *SUBR.9

10030 WIDTH 80,25:CONSOLE 0,25,0,1:SCREEN 0,0,1:C0LOR 6:CLS

16040 NAM$="TEST NAME”:XID$="SHEARING STRESS [kgf/cm2]”:YID$="THICK.[ratio]”
10050 WLR=1

10060 FOR G=0 TO N

10070 SH(G)=TYT(G) :REM --(Shearing Stress at each Glue Layer and Surface)-
10080  DH(G)=UL(G) :REM --(Ratio of Glue-Layer’s DBistance from Comp.Side)--
10090  KS(G)=KST(G) :REM --(KEENAN’s Shear Stress) -

10100 JS(G)=SVY(G) :REM --(JIS max. Shear Stress)-- -

10110 NEXT G
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10120 XMAX2=0

10130 FOR G=0 TO N

10140 XMAX1=INT(.5+KS(G)):IF XMAX2<INT(.5+KS(G)) THEN XMAX2=INT(.5+KS(G))

10150 NEXT G

10160 IF TYTM>XMAX2 THEN AMAX2=INT(.5+TYTH)  :REM --for Deciding Max.¥-scale--

10170 XMAXLEF=VAL(LEFT$(STR$(XMAX2),2)): XMAXLEN=LEN(STRS (XMHAX2))

10180 IF XMAXLEN>=5 THEN NLEN=.5 ELSE NLEN=1

10190 XMAX=(XMAXLEF+NLEN)*10" (XMAXLEN-2) 1MXI=XHMAX/(XMAX/10)

10200 XMIN=-XMAX/10

10210 YMIN=0:YMAX=1

10220 REM —=—mmm=m Graph Frame Setting ---

10230 X1=XMIN:X2=XMAX:Y1=0:Y2=2

10240 SCR$="C” :’COLOR 4:LOCATE 5,19:INPUT”MONOCHROME (M), COLOR (C)”:SCR$

10260 IF SCR$="C" OR SCR$="c” THEN SCREEN 3,0:YMX=322 ELSE IF SCR$="M" OR SCR$="m” THEN SCREEN
2,0:YMX=322 ELSE BEEP:GOTO 10240

10260 WINDOWCXMIN, YHIN)~(XMAX, YHAX+, 05)

10270 CLS:VIEW(158,40)-(638,YMX),,7

10280 FOR X=0 TO XMAX STEP MXI

10280  IF X HOD 5%MXI=0 THEN LINE(CX,YMAX+.05)-(X, (YMAX+.05-3%(YMAX-YMIN)/100)),7 ELSE LINE(K,

YMAX+.05)-(X, (YHAX+. 05-(YMAX-YHMIN)/100)),7: LINECO,YHAXD-(0,YMIN),7, ,RHF99F

10300 NEXT X

10310 FOR ¥Y=0 TO 1 STEP .1

10320 IF ¥=.5 THEN LINE(XMIN,Y)-((XMIN+3%(XHAX-XMIN)/100),Y) ELSE LINE(XMIN,Y)- ((XMIN+(XHAX-

XMIN)/100),¥)

10330 NEXT Y

10340 REM ----==~- Shear Stress Distribution =-—-- v e

10350 FOR G=0 TG N

10360  LINECXMIN, DH(G))-(XHAX,DH(G))

10370 NEXT G

10380 LINECXMIN,NP)-(XMAX,NP), T, ,&HEQOF

10380 FOR I=0 TO 98

10460  IF DSR(I+2)=0 THEN LINECHYT(I)®WLR,DSR(I+1))~-(0,1),5 ELSE LINECHYT(I)*WLR,DSR(I+1))-

(HYT(I+1)*WLR,DSR(I+2)),5

10410 NEXT I

10420 FOR 6=0 TO N

10430 LINECSH(G) ,DH(G))~-(SH(B), (DH(6)+.02)),6

10440 LINE(SH(G+1),DH(G+1))-(SH(G+1), (DH(G+1)-.02)),6

10450  IF G=N THEN 10470

10460  LINECKS(G+1),DH(G))-(KS(G+1),DH(G+1)),3

10470 NEXT G

10480 LINECTYTH,NP+.02)-(TYTH,NP~-.02),6

10480 LOCATE 16, 2:PRINT YMIN:LOCATE 186, 19:PRINT YMAX

10500 XNT=(638-158)%(~XMIN)/(XHAX-XMIN)/8  :REM --Zero Position of Strength--

10510 LOCATE 24,21:PRINT ;0

10520 LOCATE 73,21:PRINT ”+”;XMAX:LOCATE(18+XNT), 21:PRINT

10530 LOCATE 40,22:PRINT XID$

10540 LOCATE 17, O:PRINT YID$:COLOR 6:LOCATE 48, 0:PRINT;NAM$;™ ( “;NSP$;” )”

10550 LOCATE 35,1:PRINT “COMP.SIDE”:LOCATE (30+XNT),21:PRINT “TENS.SIDE”:COLOR 4

10560 LOCATE 26,INT(20%NB):PRINT "N (=”;NP;”)":LOCATE 74,INT(20%NP ):PRINT "N”

10570 IF WL$="1" THEN LL$="LOADING LEVEL= Lmax%1/3” ELSE IF WL$="2" THEN LL$="LOADING LEVEL
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= Lprop.limt.” ELSE IF WL$="3" THEN LL$="LOADING LEVEL = Lmax*2/3” ELSE IF WL$="4" OR WL$=""

THEN LL$="LOADING LEVEL = Lmax” ELSE LL$=""

10580 LOCATE 48,1:PRINT "[”;LL$;”)”

10590 LOCATE 45,3 :PRINT”SHEAR-S. AT N-N ="

10600 LOCATE 62,3: IF WL$="1”" THEN PRINT INT(.5+TYTH%10/3)/10;” [kgf/cm2}” ELSE IF WL$="2" THEN
PRINT INT(.5+TYTHRWPX10/WR)/10;" [kgf/cn]” ELSE IF WL$="3" THEN PRINT INT(.5+TYTH%20/3)/10;"(

kgf/cm2]” ELSE PRINT TYTMI:”([kgf/cm2]”

10610 GOSUB *SUBR. 11 : GOSUB *SUBR.10

16620 LOCATE 0,22, 1:PRINT”WHAT JOB DO YOU CHOICE ?”

10830 INPUT”(1) OTHER GRAPHS (2) UNUSED  (3)or<RET> OTHER LOAD LEVELS ”;RE: ON RE GOTO 10680
, 10240, 10640

10640 COLOR 7:LOCATE 0,22:PRINT SPACES$(24):LOCATE 0,22:PRINT "LOADING LEVEL ?”

10650 INPUT” 1:Lmax*1/3  2:Lprop.limt. 3.Lmax*2/3 4:Ilmax  S:NEXT STEPCRET>  “;WL$:REP=1:

GOSUB 10680:SE$="Y"

10660 COLOR 6:IF WL$="1" THEN WLR=1/3 ELSE IF WL$="2" THEN WLR=WP/WR ELSE IF WL$="3" THEN WLR=

2/3 ELSE IF WL$="4" THEN WLR=1 ELSE GOTO 6410

10670 GOTO 10060

10680 VIEWCD,0)-(639,YNX),0: CLS: WINDOW(0,0)-(639,189):VIEW(0,0)-(638,189),0,0: SCREEN 0,0: IF
REP=1 THEN RETURN ELSE LOCATE 0, 20:PRINT” JOB END”

10690 WINDOWCD,0)-(839,188): VIEW(O,0)-(639,148),0,0: SCREEN 0,0: IF REP=1 THEN RETURN ELSE
LOCATE 0,20:PRINT” Jog END”

10700 RETURN

10720 *SUBR. 10

10730 LOCATE 0,23 :PRINT SPACE$(79):LOCATE 0,23:COLOR 3:PRINT”MOVE CURSOR AND WRITE. <RET> FOR
NEXT STEP !”;:COLOR 4:LINE INPUT COMM$

10740 LOCATE 0,23:PRINT SPACE$(79):LOCATE 0,23: COLOR 5: INPUT"NEED COPY <C>, OR PHOTO <P> ,
OR NEXT STEP <RET> ? ",R$: IF R$="P” OR R$="p” THEN GOTO 10770 ELSE IF R$="C” OR R$="c” THEN
GOTO 10750 ELSE GOTO 10780

10750 LOCATE 0,23:PRINT SPACE$(79):LPRINT CHR$(27);”>”:COPY 3

10760 LPRINT CHR$(27);"H”;CHR$(27);” 1" :LPRINT CHR$(12):G0OTO 10780

10770 LOCATE ©,23,1:PRINT SPACE$(79):LOCATE 0,23: PRINT "STRIKE <SPACE> FOR NEXT STEP [”:FOR
T=1 T0 5000:NEXT T:LOCATE 0,23,0:PRINT SPACE$(79):R$=INPUT$(1):1F R$<>”” THEN BEEP:GOTO 10760
10780 RETURN

10790 REM =====<<<<SUBROUTINE 11 >>>>( Results-Expression in Figures )==sz=zzz

10800 *SUBR. 11

10810 LOCATE 0,0:PRINT"BRD=";B;” [cm]”: LOCATE 0,1:PRINT”HGT=";HL;" [cn]”:LOCATE 0,2:PRINTVSPN=";

L;”lem]”:LOCATE 0,3:PRINT”SH.A.="; INT(.5+5HA); " [cm2}”

10820 LOCATE 0, 4:PRINT "MAX. LOAD{kgf]”:LOCATE 0,5:PRINT;WRI: LOCATE 0, 6: PRINT"PP.LIM.LD.
[kgf]”:LOCATE 0,7:PRINT;WPI

10830 LOCATE 0, 8:PRINT “MAX.  DEF.[cm]”:LOCATE 0, 9:PRINT;DCRI:LOCATE 0, 10:PRINT”PP.LIM.DEF.
[em]”:LOCATE 0,11:PRINT;DCPI

10840 LOCATE 0,13:PRINT ”M.0.Y.[kgf/cm2]”: LOCATE 0,14:PRINT;EPI: LOCATE 0,15:PRINT "M.0.R.|

kgf/cm2)”: LOCATE 0,16:PRINT;FBRI: LOCATE 0,17:PRINT "M.P.L.[kgf/cm2]”: LOCATE 0,18: PRINT;

FBPI:LOCATE 0,19:PRINT”MX.SH. [kgf/cm2]”: LOCATE O, 20:PRINT;TYTHI

10850 RETURN



(2) FHERERO M)

Table 1. Summary of calculated results.

sk sfe sl s o el ool st ode o b i o e ok e ksl ok sfe s ofe o e s o s o ok o ol o e o e s e sk ol s o s sl o e o e s ol ot e ol ke s sl e ke o e s ot o e ok

NAME OF SPECIMEN :SAMPLE PLIES OF LAMINAE N: 3
LAMINA Eb Fe Ft HL
NG. KIND DECR.T.S.YOUNG.MOD. COMP.STG. TENS.STG. LAM.THICK.
(%1 [kgf/cm2] (kgf/cm2] [kgf/cm2] [cm]
1 _NARA 0 127000 430.0 1050.0 2.000
2 SUGI 0O 53000 240,0 560.0 5.000
3 _NARA L 127000 430.0 10560.0 1.000
TOTAL THICKNESS (HEIGHT OF BEAM): 8.000
szazzzzezss=sss CALCULATED RESULTS ON LOAD & NORMAL STRESS =szczcoczzzzsss

M.O.Y.= 105524 [kgf/cm2] M.O.R.= 654.8 [kgf/cm2] M.P.L.= 384.8 [kgf/cm2]
MAX.L: C.STRAIN:JRC=-.011254 T.STRAIN:JRT= .008268 N.LINE:NLR(c-n)= .578
P.L.L: C.STRAIN:JPC=-.008386 T.STRAIN:JPT= .003908 N.LINE:NLP(c-n)= .464

SPAN L= _120 [cm} HEIGHT H= 8 [cm] BREADTH B=_8 [cm]
MAX. LOAD Wr= 1862.7 [kgfl MAX. DEFLX. DCR= 2.181 [cm]
PP. LIMIT LOAD Wp= 1094.6 [kgfl PP.LIM. DEFLX. DCP= 1.094 [cml
MID PLAST.LOAD Wg= 1367 [kgf] MID PLAS.DEFLX.DCQ= 1.378 [cm]
Wp/¥Wr= .59 WQ/WR= .73 DCP/DCR= .5 DCQ/DCR= ,63

=== SHEARING STRESS AT EACH GLUED LAYER WHEN RUPTURED BY BENDING ===s=zz=z=z
& KEENAN'S SHEARING STRENGTH OF EACH LAMINA

OBSERVED MAX.LOAD: 1991.1 [kgfl CALCULATED MAX.LOAD: 1862.7 [kgfl
LAY.DIST. OBSERVED CALCULATED JIS REGRES. KEENAN'S CONV.
RATE(c-n) SHEAR.S8TS. SHEAR.STS. gem2~SH.8TG. 480 cm2~SH.STG.
Lkgf/cm2] [kgf/cm2] [kgf/cem2] [kgt/cm2]
0.00 0.0 0.0
1356.9 64.7
0.25 19.0 17.8
56.7 27.0
0.88 13.3 12.4
138.9 64.7
1.00 0.0 0.0
MAX.SH.POS. OBS.MAX.SH.STS. CAL.MAX.SH.STS.
0.46 21.2Lkgf/cm2] 19.8{kgf/cm2]
=== COMPARISION OF OBSERVED DATA WITH CALCULATED VALUES ===zzccczzccczczsaas
fkgt/cem2] [kgf/cm2] [ratiol
OBS.M.0.Y.= 110000 CAL.M.0.Y.= 105524 M.O.Y.(OB/CA)= 1.04
OBS.M.0.R.= 700 CAL.M.O.R.= 654.8 M.O0.R.(OB/CA)= 1.07
OB.MAX.SH.8TS.= 21.2 CA.MAX.SH.S8TS.= 19.8 MX.SH. (OB/CAY= 1.07

***************************************************************************

Words or figures with underlines indicate 'INPUT DATA'.
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BRD= & fom]

HGT= & [em!

$PN= 128 [em]

SH.A, = 488 [om@l

Ak, LORDCkgfl
1862,7

PP, LIN LD, kgl

6
DEF. {cm]

2.181
PP, LIM.DEF. {om)
1.094

M.0.Y. [kgfcmel
108824
M, 0.R. [kgfrem@]

1894,
Max,

654.8

M.P. L. Ckef o2l
384.8

14, SH, [kgf 7em2]
18.8

THICK, [ratiol

B

1

-1028

TEST NAME ( SAMPLE )
(MR TMUM LOADING]

BPPRRENT SKIN FIB.STS. (.0.R.) =
854.8 [kgf cn2)

CoMP.SIDE

M o(=

576 )

TEMS.SIDE i)
NORMAL STRESS [kgf-cm2]

Fig. 1. Normal stress distribution at maximum load.

BRD= & [cm]

HGT= & [oml

SPN= 12@ fom)
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Fig. 3. Load-deflexion curve at maximum load.
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